

SCHOOLS CRICKET IN 1982

The English Schools Cricket Association Under-19 team was undefeated in 1982. After their convincing eight-wicket victory over HMC Schools at Eastbourne, the same team met Welsh Schools at Pontardulais in the first game of the triangular Michael Gerard Schools "Test" Series. England had the better of a drawn game, featuring in their first innings a secondwicket stand of 98 between H. Morris, an accomplished left-hander, and N. Folland and a third-wicket stand of 72 between Morris and N. H. Fairbrother. Wales were troubled by the pace of R. A. Pick, and after Morris and Fairbrother had contributed an unbroken partnership of 136, Fairbrother reaching 84 in even time, Wales made no attempt to make 240 in 75 minutes plus twenty overs. Pick took his match return to seven for 84.

When English Schools met West Indies Young Cricketers at Fenner's, the Schools achieved an honourable draw after West Indies YC, chasing 247 in three hours, had managed only 181 for six. Batting first, English Schools reached 200, and then reduced their opponents to 128 for seven before a recovery took them to 229. English Schools' second innings was held together by Morris's 100, which took five hours, while for the West Indians S. Pragg took five wickets for the second time in the match with his left-arm Chinamen and googlies. G. R. Cowdrey, injured, was unable to play, but represented HMC Schools two days later in the rain-affected drawn match against the touring side at Bedford School, when he and N. J. Lenham bowled well after M. P. Hickson broke down. A. Fordham, W. J. P. Matthews and Lenham batted resolutely against the excellent spin of R. Havnes and the slow left-arm bowling of D. Cumberbatch before Cowdrey made a telling contribution.

Scotland CU Colts, having defeated Wales, needed only to draw with English Schools to win the Michael Gerard Series, when they met at West Bromwich Dartmouth. England, put in, declared at 200 for one, after Morris (103 not out) and M. R. Gouldstone (83 not out) had added 180 for the second wicket. Scotland were dismissed for 119 and again for 171 after England had declared a second time at 185 for three. Pick returned match figures of seven for 53, and England's victory by 95 runs gave them the series.

The batting of the England side was generally superior to the bowling with Morris outstanding, well supported by Fairbrother, a promising stroke-player. Gouldstone fulfilled his potential as an opening bat, and N. Folland, G. D. Rose and G. V. Palmer all made useful contributions. Of the bowlers, Pick was the quickest, Rose achieved most movement through the air, A. K. Golding had the best individual performance with five for 38 at Lord's, and the most interesting was the leg-spin of R. C. Talbot, who bowled the most overs. Helped by good fielding and catching and the excellent wicket-keeping of P. Gill, the bowlers were never totally mastered by opponents. Again, under the unobtrusive captaincy of Morris, team spirit was always high.

HMC SOUTHERN SCHOOLS v THE REST

At College Field, Eastbourne, July 17, 18. Tied.

The Roct

The nest	
A. Fordham (Bedford Modern) retired	70 – c Lenham b Pinkerton 34
J. P. Stephenson (Felsted) c Cowdrey b Lenham.	32 – (7) c Ellcock b Robins
W. J. P. Matthews (Bablake) retired	75 – (8) not out
P. C. Maclarnon (Loughborough) c Hickson	40
b Russell-Vick.	35 – c Coulman b Hickson
B. G. Evans (Berkhamsted) not out	8 – (3) b Robins 41
S. R. Gorman (St Peter's, York) not out	1 – (2) c Ansell b Ellcock
†J. M. Robinson (Solihull) (did not bat)	- (5) lbw b Pinkerton
S. A. J. Kippax (Woodhouse Grove) (did not bat).	- (6) b Ellcock
J. R. Prentis (Eastbourne) (did not bat)	- (9) c Lenham b Robins
G. D. Moss (Radley) (did not bat)	- (10) not out
Extras	
an Migraeman Chandlarhytes (telida la tescata sun cum	
(4 wkts dec.)	234 (8 wkts dec.) 180
	1) 1/1

R. M. Ellcock (Malvern), P. R. C. Robinson (Tiffin) and I. S. Bishop (Rendcomb) did not bat.

Rowling: First Innings-Hickson 11-3-27-0; Moss 13-2-36-0; Cowdrey 6-2-18-0; Pinkerton 13-7-26-0; Lenham 10-3-54-1; Russell-Vick 8-0-30-1; Robins 8-1-30-0. Second Imings—Ellcock 13–2–40–2; Hickson 11–1–38–1; Lenham 6–0–27–0; Pinkerton 11–3–15–2: Robins 14-6-24-3; Cowdrey 7-0-29-0.

HMC Southern Schools

	N. J. Lenham (Brighton) c Maclarnon	
	b P. R. C. Robinson.	31 - c J. M. Robinson b Moss 15
	M. D. Smith (Canford) c Stephenson b Ellcock.	5 – (4) c Gorman b Kippax 1
	R Ansell (Epsom) run out	27 – (2) lbw b Kippax
	R. Cowdrey (Tonbridge) b Kippax	5 – (5) b Moss
	M. T. Russell-Vick (Sutton Valence) not out	50 – (3) run out
	C.W. V. Robins (Clifton) c Fordham b Ellcock	18 – (7) c Prentis b Kippax
	M. W. C. Olley (Felsted) b Ellcock	4 – (8) lbw b Kippax 1
	M. P. Hickson (Tonbridge) not out	26 – (9) lbw b Kippax 5
	#E. M. Coulman (Winchester) (did not bat)	- (6) b Moss 0
1	B. H. Pinkerton (Felsted) (did not bat)	- not out 0
1	R. M. Ellcock (Malvern) (did not bat)	- (10) b Moss
1	Extras	14 Extras 13
ı	Complete Control of the Control of t	
1	(6 wkts dec.)	180 234

G. D. Moss (Radley) did not bat.

Bowling: First Innings-Ellcock 12-3-32-3; Bishop 10-1-35-0; Kippax 10-2-35-1; P. R. (Robinson 11-0-34-1; Gorman 12-5-30-0. Second Innings-Moss 19-1-82-4; Prentis 5-1-9-0; Kippax 18-3-107-5; Gorman 9-7-23-0.

After the first day's play Ellcock and Moss changed sides, and Prentis replaced Bishop, who was injured.

ESCA v HMC SCHOOLS

At The Saffrons, Eastbourne, July 19, 20. ESCA won by eight wickets. Electing to bat, HMC Schools made a steady start until Talbot took three wickets in two overs and, despite some resistance from Robins, Pick and Waring demolished the tail, five wickets falling for 3 runs. ESCA compiled a lead of 135 in their 60 overs, thanks to Morris, Gouldstone and Fairbrother, whose 85 not out came in 97 minutes. A contrasting innings was seen from Matthews when HMC Schools batted again. He took three and a half hours over his first 50 and reached his hundred in four and a half hours. Other useful scores came from Lenham, Ansell and Fordham as the Schools offered greater resistance than in their first innings. However, it was not enough, and the target of 123 in almost two hours was comfortably achieved by ESCA with 23 balls to spare.

HMC Schools

00110010	
J.P. Stephenson (Felsted) c Rose b Talbot	25 – retired hurt 5
A. Fordham (Bedford Modern) c Golding	
b Talbot.	24 – c Gill b Pick
W.J. P. Matthews (Bablake) b Rose	4 – c Pick b Talbot
V. R. Cowdrey (Tonbridge) c and b Talbot	0 - h Rose 33
"J. Lennam (Brighton) c Golding b Talbot	12 - h Golding 8
W. V. Robins (Clifton) b Pick	39 – c Morris b Waring 0
Allsell (Epsom) lbw b Waring	0 – b Pick
Inckson (Ionbridge) lbw b Pick	0 – c Morris b Rose 7
Mar. Roullson (Solihull) h Pick	0 b Pose
Lillock (Malvern) h Waring	0 - c Talbot b Pose 19
(Radley) not out	0 – not out
B 1, 1-b 5, w 1, n-b 1	8 B 5, l-b 4, w 7, n-b 10 26
	112 257

Bowling: First Innings—Waring 9–4–21–2; Pick 7.3–4–23–3; Talbot 12–4–30-4; Rose 9–1–29–1; Golding 2–1–1–0. Second Innings—Waring 14–2–34–1; Pick 15–4–40–2; Talbot 21–8–53–1; Rose 17.3–3–59–4; Golding 13–3–37–1; Palmer 8–5–8–0.

ESCA

N. Folland (Exmouth Comprehensive and	
Devon) c Matthews b Hickson.	29 - c and b Ellcock 16
M. R. Gouldstone (Braintree College and Essex)	16 Encock 16
c Robinson b Ellcock.	38 – not out 48
*H. Morris (Blundell's and Devon)	48
lbw b Hickson.	55 - c Fordham b Ellcock 26
N. H. Fairbrother (Lymm Oughtrington HS	26 Zincock 26
and Cheshire) not out.	85 – not out 21
G. V. Palmer (Queen's, Taunton and Somerset)	21
b Cowdrey.	6
G. D. Rose (Northumberland Park and	
Middlesex) lbw b Cowdrey.	3
R. C. Talbot (Richard Huish College, Taunton	
and Somerset) not out.	15
B 2, l-b 11, n-b 3	16 B 5, l-b 6, n-b 2 13
(5 1.)	
(5 wkts) 24	47 (2 wkts) 124

A. K. Golding (Colchester RGS and Essex), †P. Gill (Grange, Oldham and Lancashire), R. A. Pick (High Pavement and Nottinghamshire) and I. Waring (Tupton Hall, Chesterfield and Derbyshire) did not bat.

Bowling: First Innings—Ellcock 20–3–72–1; Moss 11–2–48–0; Hickson 11–2-52-2; Cowdrey 7–2–25–2; Robins 11–1–34–0. Second Innings—Ellcock 13–4–30–2; Moss 3–1–11–0; Hickson 3–0–13–0; Cowdrey 3–1–8–0; Robins 6.1–0–33–0; Lenham 3–0-16–0.

Umpires: J. R. Cave and J. A. Larby.

Details of the match between MCC Schools and the National Association of Young Cricketers may be found in Other Matches at Lord's, 1982.

Reports from the Schools

Abingdon, with wins over St Bartholomews, Newbury, Berkhamsted, RGS Colchester, Bloxham and Douai, were encouraged by the performance of fifteen-year-old M. T. Boobbyer, who marked his début by scoring 106 v MCC. Alleyn's, whose bowlers often failed to consolidate on a sound start from the batsmen, reported a disappointing season, as did Allhallows, whose captain, P. M. B. Zealey, headed the batting averages. All-rounders P. M. Tuck and T. J. B. Dutton-Cox did well with bat and ball, and the side's strength lay in the bowling, J. P. Knapman's leg-spinners providing welcome variety and the young E. R. M. Gard making an impressive début as an opening bowler. An inexperienced Ampleforth side, which defeated Stonyhurst, Pocklington and Bootham, scored more than 3,000 runs in a season for only the second time in the school's history, although the bowling lacked bite. Arnold School, with wins v King's Macclesfield, Kirkham GS, Baines and Ipswich, owed much to P. A. Webb, whose two hundreds were the first for the side in ten years and who took 38 wickets with his medium-pace bowling.

Bablake, unbeaten by a school for the fourth consecutive season, retained the Warwickshire and Birmingham Under-19 Cup, also for the fourth time in succession. Seven of the XI were in the side that won the Barclays Bank ESCA Under-17 National Cup from an entry of 300 schools, while W. J. P. Matthews represented HMC Schools and, with all-rounder G. Charlesworth and D. A. Thorne, played for Warwickshire Second XI. Matthews took his aggregate for the First XI to a school record of 2,469. An experienced Bancroft's side enjoyed a successful season, with S. W. Gant turning in match-winning performances with bat and ball. All-rounder I. P. Debnam played a faultless unbeaten 104 v Incognitiand M. G. de Jode's unbeaten 141 v Forest School broke his own school record. W. J. Head, a colt playing in the first XI, batted with considerable maturity and skill. With a strong batting side, **Barnard Castle School** were encouraged by wins over Pocklington and Strathallan.

although with M. Coates unable to bowl fast, the attack lacked penetration. Enjoyable tours not the side to the Isle of Man, Scotland and the Midlands.

Despite the absence of any outstanding performances, **Bedford School** enjoyed a successful season. The fielding was excellent, with many difficult catches held. Their nine victories included those v The Leys, Haileybury, Stowe, Uppingham, Repton and **Bedford Modern School**, who none the less achieved a record nine wins, including those v Kimbolton, Wesley College, Manchester GS, Bedfordshire Colts, Loughborough GS, wolverhampton GS and RGS Worcester. The batting was dominated by A. Fordham, who played for HMC Schools v ESCA and v Young West Indies, as well as for Bedfordshire. His aggregate of 1,042 was a school record and included three centuries in eight days – 146 v Oundle, 114 v Old Bedford Modernians and 110 v Wolverhampton GS – as well as 95 not out vClare College, Cambridge. The attack was more hostile than of late, led by captain A. K. G. Jones (right-arm medium) and J. O. R. Jones (right-arm fast), while the emergence of off-spinner P. A. Garratt gave encouragement for the future.

Berkhamsted ended an otherwise disappointing season with wins v Framlingham, Kimbolton and St Lawrence at the Ramsgate Festival. Captain B. G. Evans, who scored wo centuries, was given sound support by J. R. Neal (left-hand opening bat and right-arm fast-medium bowler) and played for The Rest v Southern Schools. Birkenhead, who had exiting drawn games v Liverpool College, King's Macclesfield and William Hulme's GS, recorded eight wins under the captaincy of right-hand bat and off-spinner S. M. Holroyd, who played for Northamptonshire Second XI. He received valuable support from off-spinner S. McGowan, while M. P. Gamet topped the batting averages and shared in four century opening stands with P. C. Barber. Outstanding fielding, notably that of G. E. B. Swayne, and the leadership of G. K. Smith were the key to wins by a young Bishop's Swifford College side over The Perse, Kimbolton, Framlingham and Hymer's College. Laking the bowling to secure many victories, Bloxham's powerful batting side featured cuttures from captain T. J. Abraham v Bromsgrove and Hipperholme.

The season at Blundell's, unbeaten for the second successive year and whose victories included those v Clifton, Oundle and Ampleforth, was notable for the contribution of aptain and left-hand bat H. Morris, who played for Glamorgan in the County Championship, MCC Schools and NAYC. His 1,032 runs were 569 more than the next highest aggregate and included three hundreds as well as nine other innings over 50. He also took 25 wickets (right-arm medium), including a return of six for 53 v Sherborne. Also lowing well were A. Morris (medium), off-spinner M. C. Coe and H. B. Day (medium), to took five for 18 v Taunton. The leading batsman for Bradfield College was opener M. I. Gent, a respected captain whose aggregate of 1,401 over three years is the highest since G. R. J. Roope's 1,846 in 1962-64. The batting was otherwise disappointing, but bowling incligently on all types of wicket, A. J. Johnston (right-arm medium away-swing) took 44 wickets and was well supported in the field. A positive approach characterised a young bradford GS side, who were rewarded with seven wins. The batting was sound – notably that of S. T. Firth and C. J. Hewitt – and the weakness was in their failure to bowl out the opposition, opening bowlers T. Welsh and A. M. Broadbent lacking consistent support.

High points of a disappointing season for **Brentwood** were an opening partnership of 116 between P. Preston and left-hander M. Wedge as well as the fast-medium bowling of S. C. Smith, who came into the side in June to top the averages. He returned six for 27 in the victory over Incogniti. A young **Brighton College** side, moulded into a formidable team by captain S. C. B. Withers, achieved a record twelve wins. J. A. Gorton (fast-medium) took 49 wickets and N. J. Lenham was outstanding with 34 wickets and 1,076 runs, breaking the shool record which had stood since 1935. He played for HMC Schools and Sussex Second XI. The brightest feature for **Bristol GS** was the batting of D. J. Woolley, whose aggregate of 672 runs was more than three times the next highest and included two hundreds. Bromsgrove School, whose only win was over Wrekin, depended much on left-hander D. M. Meredith with the bat and S. W. Williams with the ball. The XL Club, Dauntsey's, Milton Abbey, Kingswood and Canford were defeated by the **Bryanston** side, who were never lowled out. G. Binns, in his first season, was selected for Southern Schools Under-16 XI.

A young Canford side, with victories v King's Taunton, Downside and King's Bruton, rated heavily on their captain, M. D. Smith, who scored twice as many runs as anyone else,

including two hundreds, and who played for Southern Schools v The Rest. A return of seven for 50 v Bradfield by P. G. Edwards (slow left-arm) emphasised his considerable promise. For **Charterhouse**, a disappointing start to the season was overcome by wins v Portsmouth, Winchester and Westminster. The middle order could not match the consistency of openers C. A. Anderson and D. M. Bennett, although P. R. Durnford gave evidence that he is an exciting prospect. R. J. Rogers took 41 wickets with his left-arm spin and, with P. D. Newman (left-arm fast-medium) who took 46, provided a varied and penetrating attack. The **Cheltenham College** attack, sensibly handled by captain P. C. D. Sykes, regularly bowled out opponents, and with E. A. H. P. Rowland, R. P. W. Thompson and H. D. E. Evans excellent run-chasers, some notable victories were achieved, including those v Repton and Clifton.

In a season of rebuilding, Christ College, Brecon, were encouraged to win nine matches, thanks largely to captain and all-rounder S. W. Harvey, who captained the Welsh Schools and whose unbeaten 102 out of 149 v Bromsgrove deserves mention. Positive cricket was played by a young Christ's Hospital side, who were let down by erratic batting. However, the bowling was steady, with K. M. Cook taking eight for 55 v Lancing and M. R. Joyner returning seven for 69 v Sussex Martlets. A tour to Bermuda, where four matches were won, ended the season for Clifton College, whose C. W. V. Robins played for HMC Schools. Brittle batting hampered an inexperienced Colfe's School side, for whom captain A. Rodgers opened the bowling effectively, enjoying a haul of 49 wickets. Colston's School attributed their success v Bristol GS, Bristol Cathedral School and Dauntsey's to the prolific batting of W. M. Smith, captain N. H. Parnell and L. M. Roll, whose 757 runs were a school record.

In a mediocre season for **Dauntsey's**, only their captain, J. D. Livingstone, shone, batting well and bowling his off-breaks to good effect. **Dean Close**, too, had a disappointing season, though two sixteen-year-olds showed promise: P. M. Vincent with the bat and R. N. K. O. A. Lindsay (fast-medium) with the ball. Some exciting drawn matches enlivened the season of **Denstone College**, whose attack lacked sufficient depth to back up the penetrative spells of A. J. Little. A highlight was the win v a South African touring team from Woodridge College. A tidy and varied attack, backed by sound fielding, encouraged **Dover College** in a transitional year, but the batting too often revealed its lack of experience. **Downside**, without a win, entertained Wesley College, Australia. **Durham**, unbeaten by a school, achieved a record ten wins, among them v Fettes, Pocklington, Ashville, St Bees, Norwich and Merchiston. Their strength was in depth, although the averages were dominated by captain N. P. Tubbs (slow left-arm) and fifteen-year-old M. A. Roseberry, whose aggregate of 839 runs was more than double the next highest and who took the most wickets with his right-arm medium bowling.

The batting of Eastbourne College was stylishly led by J. R. Prentis and left-hander M. H. Edwardes-Evans, whose opening stand of 122 contributed to the defeat of Lancing in the final of the Sussex Schools Knockout Cup. Another highlight was M. O. Simpson's unbeaten century v Sussex Martlets. A limited attack was spearheaded by Prentis (fast-medium), well supported by J. C. Wallace (medium) and colt S. R. Davis (slow left-amy. For Edinburgh Academy, whose wins included those v Barnard Castle, Loretto and QEGS Wakefield, left-arm spinner B. J. M. Clube collected 52 wickets in his first season, including seven for 42 v Oxford University Authentics. I. D. Zuill hit a maiden century v Mill Hill and G. R. Mawdsley, who had a fine all-round season, formed a successful opening partnership with his brother, R. A. Mawdsley. A well-balanced Ellesmere College side were ably led by wicket-keeper A. I. Crow, who recorded eleven catches and nine stumpings. In the victory v William Hulme's GS, T. J. R. Petty scored an unbeaten 80 out of 160 before G. L. Home took seven for 12.

A memorable season for Eltham College brought seventeen wins, with captain M. R. Surguy and M. J. Holcombe becoming the most prolific batsmen in the school's history, aggregating 1,159 and 1,039 runs respectively. Holcombe's 155 not out v St Dunstan's was a school record, as were wicket-keeper R. J. Hunt's 64 dismissals (50ct, 14st) in three years. An inexperienced Emanuel side, whose twelve wins included those v Reigate GS and RGS Guildford, were runners-up in both the London Schools and Surrey Schools knockout competitions. The absence of all-rounder R. Carter, with a broken leg, for much of the season hampered a young Enfield GS side, whose sound fielding and bowling were not matched by some fragile batting. None the less, wins were recorded v Chigwell, Colchester

RGS, Latymer, St Albans and Watford GS.

Three new records set for **Epsom College** were an aggregate of 1,013 runs by captain R. M. C. Williams, a first-wicket partnership of 202 from J. R. Ansell and M. B. Finnigan, and a fourth-wicket stand of 157 between Finnigan and R. V. Williams. Ansell was selected for the Southern Schools and R. M. C. Williams captained Surrey Schools. M. J. Morris showed tremendous stamina in the attack, while D. G. Henwood, moving the ball both ways, oracted problems for opposing batsmen. **Eton**, unbeaten, recorded eight wins, among them those v Bradfield, Mariborough and Winchester. The strength of the side lay in bowling out the opposition, M. V. Fleming, a hard-hitting opening bat and prolific swing bowler, dominating in both respects and captain C. A. Watt bowling his off-spin maturely for 33 mixets. Although the bowlers of **Exeter School** sometimes struggled to dismiss their opponents, their batsmen, led by captain P. Hodgson, often successfully chased large targets in their most successful season for some years.

Felsted, unbeaten by a school, owed much to openers J. P. Stephenson and A. B. Mitchell, who compiled five century opening stands, 176 being the highest. Selected for Southern Schools was B. H. Pinkerton (left-arm orthodox spin), who led the attack, ably apported by Stephenson and A. J. Haynes. The fielding was sound, inspired by the outstanding wicket-keeping of M. W. C. Olley, who, with Stephenson, played for HMC Schools. A win over MCC was a highlight for Fettes College, who also defeated The Leys. Forest School, with wins v Brentwood, City of London, RGS Colchester, Chigwell, St Edmunds Canterbury and Wellingborough, could recall with satisfaction the performance of fourteen-year-old M. D. I. Sheppard, whose 501 runs included an unbeaten century.

The strength of the **Glenalmond** side lay in its team spirit under the outstanding captaincy of left-hand bat J. Everett, who scored fine hundreds v Fettes and Strathallan. S. J. Lewis (offspin) and M. H. Alexander (slow left-arm) took many wickets as wins were recorded v Merchiston Castle, Loretto, Downside, RGS Lancaster, MCC, the XL Club and Christ's College, Cambridge. Everett played for Scotland Under-19, while J. Sutton captained and A. M. Stevenson played for Scotland Under-16. Memorable in an enjoyable season for Giggleswick School were all-rounder J. B. Newsome's leadership and R. M. White's 131 not out v Hipperholme. **Gordonstoun's** young side were encouraged by the performance of kading wicket-taker K. M. Mordue (slow left-arm) and captain R. P. J. Heyes's unbeaten cantury v The Abbey School, Fort Augustus.

An enjoyable winter tour to Sri Lanka, with three matches won and three lost, preceded season in which Haberdashers' Aske's, Elstree, were defeated by a school – Bancroft's – for the first time in five years, although nine wins followed. The batting was strong, with reliable contributions from N. J Wood, D. J. Price, N. J. Churchman and left-hander A. J. Moulding, while the bowling, led by Moulding (right-arm in-swing) improved considerably. An enjoyable aspect of the Halleybury attack was the leg-spin of T. P. Jakson-Feilden, ably backed by wicket-keeper S. L. Feast, who made fourteen stumpings. J.E. Harding was a mature captain and led the batting. Hampton School, astutely captained by E. M. Turnill, played positive cricket to remain unbeaten by a school. Turnill and T. R. Estaugh played match-winning innings, and there was much pleasure to be taken from the controlled slow left-arm spin of fifteen-year-old J. Shepherd.

Unbeaten for a second successive season, Harrow boasted a strong batting side, but the attack often lacked penetration, as did that of Highgate School, for whom A. C. Fawden took six for 32 v Old Cholmeleians. Hereford Cathedral School, in a season curtailed by the poor weather, had several matches which were in an interesting position when time ran out. Hipperholme GS began the season with convincing wins v Bradford GS and Woodhouse Grove, but later the attack failed to capitalise on the consistent batting of D. F. Rayner, R. S. Butterworth and left-hander K. D. Booth, who was also a sound wicket-keeper. Turspierpoint followed a winter tour of India with wins v Whitgift and Worth, but other opportunities were missed owing to inconsistent batting and wayward bowling. Exceptions are J. B. Buckeridge and M. D. Foulds, who scored the side's only century, and G. J. Alexander, who returned seven for 34 v Whitgift. A young and inexperienced Ipswich School side made considerable progress during the season, T. Rollett developing into a sund opening bat to score the school's only three-figure innings. S. Priscott (left-arm acdium) showed promise, his 25 wickets including seven for 45 v Gresham's, while

J. Nicholls emerged as an accurate off-spin bowler who also batted tenaciously.

Apart from S. A. Sharpe, who was outstanding with both bat and ball, Kimbolton's batting was disappointing. The fielding, however, was competent and the bowling adequate, with P. A. J. Brittain (slow left-arm) taking six for 25 v MCC. A. W. Gilbert, captain of King Edward VI School, Southampton, scored his maiden century for the school and captained Hampshire Schools, while wicket-keeper R. P. Headington played for West of England Schools and Hampshire Schools. King Edward VI College, Stourbridge, owed their success to a strong attack, headed by D. J. Bullock and off-spinner D. J. Shorter, who took six for 46 for Midland Schools v The North and was selected for England Schools v The Army. Notable batsmen were D. M. Anderson and opener R. N. Tolley.

For King Edward VII School, Lytham, G. Cartmell scored 107 v Solihull School, against whom A. Thornton made 104, reaching three figures with two consecutive 6s. Of the bowlers, A. Gregson and J. Evans (both fast) and N. D. W. McDonnell (off-spin) excelled. With wins v Wrekin, Solihull and Denstone, King Edward's School, Brimingham, depended heavily on all-rounders M. K. Hughes and C. Ibbetson. N. A. Willetts, who scored the school's only hundred, played for ESCA Under-15 v Scotland. King William's Colleg, Isle of Man, reported a disappointing season in which lack of a penetrative attack frustrated a strong batting side, for whom opener S. C. Watson scored two centuries. In a successful season, King's College, Taunton, defeated Wellington (Somerset), the XL Club, Queen's Taunton, MCC, Taunton School, Allhallows, Monmouth and Downside. Their strength lay in the bowling, with R. J. Harden (left-arm medium) taking 48 wickets, including a hat-trick v Queen's Taunton, a feat also performed by H. D. Wordsworth (right-arm medium) v Christ's Hospital. The forceful batting was led by Harden, who passed 90 on three occasions; he received valuable support from left-hander N. D. Everest, who also kept wicket.

King's College School, Wimbledon, owed their success to all-round depth, although notable performances came from J. H. Frost with the bat and N. P. Montgomery and fifteen-year-old P. S. Noble with the ball. Careless fielding hampered King's School, Bruton, for whom I. C. D. Stuart and R. C. Gainher scored the most runs, while Stuart and P. F. McIntyre were the leading wicket-takers. The King's School, Canterbury, defeated only by Sutton Valence, fielded a strong batting side, featuring P. G. Bromley, D. J. R. Hiddick-Smith and P. J. Cranston-Smith, and a varied attack, with leg-spinner R. W. G. Oliver taking the most wickets. Wicket-keeper P. J. Whyte's performance encouraged good displays in the field. The King's School, Ely, also defeated only once, were indebted to the all-round excellence of T. S. May (right-hand bat and right-arm off-spin), whose 103 v Ely Diocese was their highest innings. J. P. Hulme, captain and opening bowler (right-arm in-swing) followed a fine season by playing for Cambridgeshire Under-19. In the junior section, eleven-year-old R. Bickell hit 30 runs in one over off Mr T. King in the match v the Fathers. In a season of rebuilding, P. A. Manning was outstanding for The King's School, Macclesfield.

King's School, Worcester, were disappointed to win only one match, their problem being mainly an inability to bowl out the opposition. The performance of J. S. Fleming appeared to suffer from his responsibilities as captain, and of the batsmen only D. P. E. Rogers played consistently. A young Kingston GS side were encouraged to win five matches, including one by four wickets v Tiffin as part of a sponsored contest in aid of the Lord's Taverner's Charities. Three centuries resulted from enterprising batting, two by D. E. Jenkins and one by S. H. Clayson. The outstanding bowler was R. C. Marshall (left-arm medium), backed up by captain S. J. Nicholls (medium).

Lancing College's record twelve wins included defeats of Charterhouse, Brighton College, Free Foresters and MCC. Off-spinner C. S. Mays took a record 58 wickets, while A. N. McPherson also had a rewarding season. Fifteen-year-old left-hander J. D. Robinson's 700 runs were the highest aggregate since 1957 and considerable depth to the batting came from J. G. Wills, I. C. Martin, J. J. S. Withyman and wicket-keeper C. P. Heaslip, the only member of the side not expected to return in 1983. An unbeaten tour to the Channel Islands was enjoyed in the summer. Positive cricket brought Leeds GS ten wins, among them those v Hipperholme GS, QEGS Wakefield, Ashville College, Bootham and Archbishop Holgate

68, York. Their innings were given a sound start from J. K. Bowman and A. F. Tyler, who reached three figures twice. A. M. Watson took six for 5 v Silcoates School and four wickets in five balls v Archbishop Holgate GS.

The batting of **The Leys** was the strongest for some years, notable performances coming from G. C. Mackintosh (90 v The Perse) and J. D. R. Benson, who made 110 not out v the XL Club and whose 90 v Highgate came in 80 minutes, with eight 6s. He also captained HMC Schools Under-15. A successful **Liverpool College** side, who held their catches well, owed much to the formidable opening partnership of D. M. Fletcher and P. D. Williams, as well as the opening attack of T. F. Groom and Williams. A young **Lord Wandsworth** College side received encouragement from the performances of T. R. Jermyn (left-hand bat and right-arm off-spinner). Another young side, **Lord Williams's School, Thame**, were less successful, depending too heavily on S. J. Lewis. For **Loretto**, captain D. J. M. Orr excelled, making 105 not out v George Heriot's and taking five for 22 v Glenalmond.

Two all-rounders, S. Mendes and M. Barrow, headed the averages for Magdalen College School, who were planning a tour of the West Indies. Barbados-born R. M. Ellcock was outstanding for Malvern College, taking five wickets in an innings on six occasions, including returns of six for 31 v Dean Close, six for 41 v Radley and six for 57 v Clifton College. He played county cricket for Worcestershire and represented HMC Schools. Leading bowlers for Manchester GS were M. A. P. Jefferson and captain S. C. Williams, while the side's only three-figure innings came from R. E. Johnston v Arnold School. A potentially strong Marlborough side, who could none the less muster only one win, were let down by fragile middle-order batting and an attack which was rarely more than steady. The batting of a young Merchant Taylors', Crosby, side was disappointing, with only fifteen-year-old M. J. Cooke passing fifty. The bowling, often inaccurate, was led by D. J. Walmsley (slow right-arm) and L. N.J. Heathcliff-Core (left-arm fast-medium), while M. J. Clinton took six for 30 v Liverpool College. Some excellent catches were taken, particularly by D. H. Cooke at first slip.

Merchant Taylors', Northwood, unbeaten for the second successive season, owed their sucess to all-round strength. A strong batting side was invariably given a sound start by openers S. P. Ducat and left-hander D. J. Jenkins, who shared two century stands. Five accurate and attacking bowlers, who gave the opposition no respite, were backed by superb fidding inspired by Jenkins behind the stumps. Merchiston Castle School reported a disappointing season, with the side too often bowled out cheaply. Opening batsman J. E. Hamilton distinguished himself v Edinburgh Academy, when he was on the field throughout, scoring 74 not out and 47 not out. The seam bowling was rarely incisive enough and D. A. G. Watson (slow left-arm orthodox) and N. S. Hockborn (off-breaks) were often introduced too late to be effective. For Mill Hill opening bat P. A. Robin averaged 70.85 and was unfortunate to miss 1,000 runs for the school season.

A successful Millfield side owed much to all-rounder P. A. C. Bail, who represented ESCA West. Although the middle-order batting tended to be fragile, J. E. M. Nicholson made three centuries, and of the bowlers the accurate N. Brown deserved more success. A young Milton Abbey side often failed to sustain a sound start from promising opening batsmen J. M. Hopkins and N. J. Coppen, but they did reach the fifth round of the Barclays Bank Under-17 Cup. Leading bowlers were fifteen-year-old R. W. Gamble (fast-medium) and captain C. W. Moyle, whose right-arm leg-spin was both a match-winner and served to keep other matches interestingly open. The talented players of Monkton Combe School often failed to play to their full potential, although I. G. Osborne emerged as a fine all-munder and S. A. M. Prentice played some fine attacking innings. Inability to bowl out the opposition often restricted Monmouth School, for whom captain K. G. Lewis made 119 not out v Christ College Brecon. All-rounder M. F. Kear captained the Welsh Under-15 side.

Norwich School's season, which featured a win by 3 runs v Gresham's, was rounded off with a tour to Durham, where the maturity of S. P. Bowling and P. D. Nicholls was supported by the promise of fourteen-year-old N. J. Foster with both bat and ball. The witinghamshire High School side, who equalled the school record of sixteen wins, played attractive, attacking cricket, ably led by R. Poole, whose 895 runs included two hundreds.

For Oundle, who defeated Mill Hill and St Edward's Oxford, a weak middle order failed

to support openers A. S. A. Townsend and left-hander D. C. Boyce. Apart from leg-spinner J. S. Carr, the attack lacked penetration. For **The Perse School**, whose only win came v RGS Newcastle, J. M. C. Stenner was in fine form with the bat. Aggressive cricket brought **Pocklington School** eleven wins: J. D. St J. Lang and R. T. Nuttall were reliable opening batsmen and R. M. Aram (slow left-arm) established a school record with 69 wickets. Another fine season for **Queen's College, Taunton**, featured the all-round performance of G. V. Palmer, son of Test umpire Ken Palmer, who headed both batting and bowling averages and made his début for Somerset. Also outstanding with bat and ball was P. Graham.

Highlights for Radley were wins v Sherborne, St Edward's, Abingdon and Free Foresters, against whom R. G. Butler scored 111. Captain G. D. Moss, son of Alan Moss (Middlesex and England) played for HMC Schools and for Middlesex Under-25. With L. S. N. George he formed the side's best opening attack for over a decade, but the later bowlers failed to prise out opposing tailenders. E. J. B. Popplewell (brother of Somerset's N.F.M.) was a talented wicket-keeper-batsman. A season of rebuilding for Ratcliffe College ended with a successful tour to Blackpool. Above-average fielding supported notable performances from D. M. Prior, who scored 101 v Hutton GS, and P. W. Tarimo, with seven for 26 v Cotton College. Reading School relied heavily on captain E. P. O'Leary, who headed both batting and bowling averages and took five for 16 v Abingdon, the only school to be beaten by the side.

A young **Reed's School** side performed better than expected, thanks mainly to the accurate slow bowling of captain M. R. Dunn (off-spin) and C. R. Notton (leg-spin). The batting was steady, with opening bat G. A. Hatton excelling. A successful tour to the Channel Islands ended the season for **Reigate GS**, whose attack was often handicapped by injuries. Two all-rounders were outstanding – C. M. Allen and left-arm wrist-spinner P. W. Gritton. A weak attack brought **Repton** a frustrating season in which no school was beaten. The most successful batsman was C. Benn, while captain T. R. Barlow took 22 catches behind the stumps. Highlights for **Rossall** were victories v Sedbergh, Stonyhurst and Arnold School. R. I. Kanhai led the team by example, heading both batting and bowling averages, and was given valuable support by K. C. Stiles (right-arm fast-medium).

Royal GS, Newcastle, with a young side, had an encouraging season. Apart from S. J. Sill (off-spin) and J. N. J. Anderson (leg-spin), the bowling was expensive and the batting, although strong in depth, lacked consistency. Royal GS, Worcester, benefited from the aggressive strokeplay of openers S. D. Cairney (112 v King's School, Worcester) and P. Bent (115 not out v Christ College, Brecon). Although I. G. Jinks (right-arm fast-medium) was hostile in the right conditions, the attack rarely dominated. Rugby, with no wins over schools, were beaten only by St Edward's Oxford. Rydal had a disappointing record, although keenness and determination often made up for technical deficiencies. The absence through injury of T. P. Forster at the beginning of the season was critical.

St Albans School, with only four drawn games, owed much to the attacking captaincy of all-rounder A. P. Latham. Off-spinner W. J. Dean collected a post-war record of 50 wickets, including returns of seven for 45 v Bedford Modern and six for 41 v Verulam. A high standard of wicket-keeping came from M. D. Lynes and J. C. Simpson, and in the middle order H. S. F. Thompson often steadied the innings under pressure. A strong batting line-up at St Dunstan's was built around No. 3, C. Denny, but C. Tooley failed to fulfil his potential as an opening bat. Fifteen-year-old G. Pointer showed promise as a fast left-arm bowler and S. Cross took 25 wickets with his slow off-cutters. For St Edmund's, Canterbury, who in a season of rebuilding defeated Sir Roger Manwood's School, Duke of York's RHS and Cranbrook, S. A. A. Roche's six for 39 v Dover College was an outstanding performance. Had some of their senior colours, especially the batsmen, produced their true form, St Edward's, Oxford, might have enjoyed a more rewarding term. Except for R. Franklin (left-arm chinaman and googly), the bowling was weak. St George's, Weybridge, found a useful off-break bowler in S. E. Jones, and fifteen-year-old T. J. O'Gorman, with the side's only three-figure innings, promised much for the future.

St John's, Leatherhead, achieved wins v KCS Wimbledon and Christ's Hospital, with captain M. T. Sibley scoring the most runs and taking the most wickets with his off-breaks. Unbeaten by a school, St Peter's, York, were indebted to spinners R. J. Kirby (left-am)

and S. R. Gorman (off-spin), who topped both batting and bowling averages and played for HMC Schools. In a successful season, **Sedbergh's** young side played positive cricket, being particularly successful at chasing targets and achieving notable wins v Ampleforth and MCC. Captain C. James played fine attacking innings, and M. T. Alban, W. D. C. Carling, J. C. Foster and S. R. Paton gave him good support. The varied attack featured M. G. Burgess (fast), J. C. R. Binks (left-arm fast-medium) and Alban (leg-break).

The strength of Sevenoaks School's side lay in the attack, with R. P. Roberts (right-arm fast-medium) taking the most wickets. The batting was dominated by the consistent J. G. Perks, with D. B. Thresher and left-hander N. P. Thomas in support. A highlight for Sherborne, defeated only by Radley, was an unbroken first-wicket partnership of 205 v Downside between M. M. C. F. Jones and captain T. J. Dudgeon. P. L. Garlick proved to be a tireless fast bowler and T. J. Billington's accurate, slow left-arm spin reaped its reward. Shrewsbury suffered a frustrating season. They had an inadequate attack, despite the contribution of R. J. P. Burton, who took 56 wickets with his out-swing, including five wickets in an innings on five occasions. Simon Langton GS, who suffered their first defeat in three years, depended heavily on S. C. Goldsmith, who scored three hundreds in his 938 runs, took 27 wickets and played for Kent Second XI. For Sir Roger Manwood's School, M. I. A. Howell (right-arm fast-medium) collected seven for 39 v Dover College. The batting was carried principally by the captain, K. B. G. Boland, and a promising fifteen-year-old, G. W. Laslett.

With a strong bowling side, Solihull recorded five wins, including those v MCC and Bamard Castle, against whom C. M. Jowsey took six for 38 with his off-spinners. M. Whitehead (right-arm fast-medium) took six Bromsgrove wickets for 32 and M. C. Duck right-arm fast-medium) produced a sensational victory over King's Worcester with three wickets in the final over and match figures of five for 8. The batting, however, was brittle, although J. M. Robinson scored an unbeaten 97 in the victory over King William's College and played for the Rest v Southern Schools. An experienced Stamford School side, with wins v Kimbolton, the XL Club, Spalding GS and Bishop's Stortford College, was centred around captain D. W. Browne, who hit 117 v Clitheroe GS. I. D. Stafford had an excellent sason behind the stumps (16ct, 3st) and most wickets fell to fast bowlers I. R. Plant and J. N. Ralphs: the rest of the attack tended to be expensive. A tour of Australia was planned for the winter.

Stockport GS were unbeaten, noteworthy wins coming v Manchester GS and King William's College, against whom the hostile opening bowler, R. A. Samarji, claimed six for 32 Leading batsmen were T. P. R. Reeman, P. H. Wickenden and captain R. P. Nicholson. Strathallan, with twelve wins and only one defeat – at the hands of Barnard Castle School—were given outstanding example by their captain and all-rounder M. J. de G. Allingham, who scored 721 runs at 103.00 and took 45 wickets at 10.55. A superb season for Sutton Valence left the side undefeated with twelve wins, including those v St Lawrence, King's Rochester, Dover College, King's Canterbury, Trinity Croydon, William Hulme's GS and Culford. To the fore were all-rounders A. R. Shaw and M. T. Russell-Vick, a fine captain who made 114 v Dover College, against whom Shaw took six for 13. Russell-Vick played for HMC Schools.

From a young Taunton School side, who defeated Clifton, Canford, Monmouth, Rutlish and a Stowe XI, J. C. Pike and R. J. Bartlett were selected for England Schools Under-15. Iffin suffered a disappointing season. Owing to a lack of form among the fast bowlers, the burden of the attack fell upon the left-arm orthodox spinners, W. B. Shermer and N. M. Williams. Run-making was prolific at times, with P. R. C. Robinson excelling. Tonbridge, again unbeaten by a school, defeated Charterhouse, Bedford, Haileybury, Clifton, Eastbourne, Wellington, Lancing and Sevenoaks. Four batsmen scored five centuries tetween them, with G. R. Cowdrey and M. P. Hickson outstanding; both played for HMC whools. The bowling was equally strong, 114 wickets being shared between four seamers, well supported by wicket-keeper M. Cooper, who collected 27 victims. Trent College owed their excellent season to three fast bowlers: W. Fox (on Leicestershire's books), who took wen for 31 v Pocklington, the promising M. Davison (son of I. M. Davison and on Nottinghamshire's books) and accurate swing bowler N. J. S. Booth. They were ably existed by some brilliant catching from S. J. Kinselle (on Derby County's books as a

907

goalkeeper), as well as some aggressive outcricket. Seven consecutive wins, four on a Dutch tour, gave **Trinity** a total of fourteen wins, with only three defeats; the result of a strong team effort. P. J. Stapley equalled the school record of four hundreds in a season. Truro **School**, with only one defeat, were ably led by T. Manhire, who made a valuable all-round contribution.

With a well-balanced side and depth to their batting, Uppingham, unbeaten, defeated Haileybury, Repton, Shrewsbury, Ampleforth and Oundle. New records were set for Victoria College, Jersey, who defeated Elizabeth College to win the Sullivan Trophy. Captain W. Jenner established a post-war record with 1,227 runs, while pace bowler J. M. W. Giles's 71 wickets were the best return in a term.

Warwick School, after a slow start, defeated King's Worcester, MCC, the XL Club, Dean Close and Solihull. Runs were scored quickly, with two centuries coming from J. C. Ball and one from N. C. B. Robinson. There was a shortage of slow bowlers, the emphasis of the attack being the formidable opening partnership of A. C. Nunn and B. J. Barnfather, well supported by A. Knight. Inconsistent batting restricted Wellingborough School to two wins against schools – v Bedford Modern and Lord Williams's Thame. Wellington College, Crowthorne, found runs hard to come by, but good catching and a penetrative attack brought six victories. Early promise was not fulfilled by Westminster, although the promotion of attacking right-hand batsman R. J. Levy brought a fine late victory v Free Foresters. Weak batting restricted Whitgift, although good wins were achieved v Trinity and St George's Weybridge. The leading bowler was captain R. D. Ronald (slow left-arm), who collected 41 wickets.

William Hulme's GS played positive cricket, with bowlers' performances often winning matches; I. D. Thorpe was the most consistent, A. D. Brown claimed six for 12 in the win v King's Macclesfield, and N. J. Fairfax (leg-spin) and R. G. McLaren (medium) were responsible for the wins v Rydal and Loughborough GS respectively. R. P. Thornton and H. Fryman scored the most runs, but large scores generally eluded the side. Winchester reported a disappointing season, the batting fragile and the bowling often ineffective. However, W. E. J. Holland scored three centuries – 150 not out v Eastbourne, 108 not out v Harrow and 107 v Clifton – and captain and wicket-keeper E. M. Coulman was selected for Southern Schools. After a poor start to the season, Woodbridge School achieved some exciting wins, including those in the final over v RHS Holbrook and Norwich, against whom R. W. Bensly made 100 not out. He scored the most runs as well as taking the most wickets, but the side generally had difficulty in bowling out the opposition, although R. A. Jack emerged as a promising off-spinner and S. Leask's seam bowling proved effective later in the season.

Woodhouse Grove beat Bootham, Ashville and Giggleswick, I. W. Stott emerging as the most successful batsman for ten years and receiving sound support from the Percy brothers. S. A. J. Kippax bowled his leg-spin to good effect and was selected for the Rest v Southern Schools, while B. S. Percy (seam and off-spin) and left-arm opening bowler S. Cockerill enjoyed good returns. E. M. Greenwood was a competent wicket-keeper. Highlights for Worksop College were S. N. Waddington's 132 not out v Denstone and 100 not out by his younger brother, W. M. Waddington, at Repton. Wrekin reported many exciting finishes and good wins v Worksop, Stonyhurst and MCC. Captain J. R. Mackenzie took more than 50 wickets and scored over 500 runs for the second season in succession, while O. N. E. Harvey also made a valuable contribution. A young Wycliffe College side did better than expected, with J. R. Bodington playing a gloriously aggressive innings v Colston's, going from 50 to 70 in one over. R. B. Hair had a promising first season with the ball, and after a poor start captain S. J. Shorthose recovered form to top the bowling averages.

THE SCHOOLS

(Qualification: Batting 100 runs; Bowling 10 wickets)

*On name indicates captain.

*On figures indicates not out.

Note: The line for batting reads Innings-Not Outs-Runs-Highest Innings-Average; that for bouling reads Overs-Maidens-Runs-Wickets-Average.

ABINGDON SCHOOL

Played 16: Won 8, Lost 4, Drawn 4. Abandoned 1

Master i/c: N. H. Payne

Batting—M. T. Boobbyer 4–0–233–106–58.25; B. E. Woolley 13–6–191–60*–27.28; R. I. McCrery 11–1–264–62–26.40; *C. C. Newmark 15–0–292–59–19.46; N. G. Rice 15-2-237–59–18.23; R. M. R. Suggate 13–0–186–54–14.30; S. J. Rushton 16–1209–61–13.93; D. R. Newman 13–0–140–50–10.76.

Bowling—D. H. Phillips 114.2–31–264–29–9.10; R. I. McCreery 134–35–324–27–12.00; T. n. Winter [51,2–51–342–28–12.21; M. A. Marsden 96.5–33–195–12–16.25.

ALDENHAM SCHOOL

Played 15: Won 4, Lost 4, Drawn 7. Abandoned 1

Master i/c: P. K. Smith

Cricket professional: F. J. Titmus

Batting—P. A. Stenning 15–3–387–68–32.25; C. Y. Appenteng 8–1–180–59*–25.71; C. R. Biteson 14–0–353–68–25.21; S. W. H. Vickers 11–1–196–81–19.60; S. P. Radin 3-5–156–61*–19.50; J. M. Edwards 10–1–158–64–17.55; *A. P. O. Cotton 14-2-205-40–17.08; J. M. Aukett 10–1–107–32–11.88.

Bowling—S. W. H. Vickers 158–36–423–22–19.22; P. A. Stenning 185–35–636–31–20.51; J. M. Edwards 118–24–344–11–31.27.

ALLEYN'S SCHOOL

Played 16: Won 4, Lost 6, Drawn 6

Master i/c: J. F. C. Nash

Bowling—G. Hamilton 190–62–449–24–18.70; J. Graham 168–35–528–27–19.55; W. Grigg &5-17-225–11–20.45; S. Geere 116.2–25–345–15–23.00; *W. Postlethwaite 145-42-419–18–23.27.

ALLHALLOWS SCHOOL

Played 19: Won 4, Lost 10, Drawn 5

Master i/c: P. L. Petherbridge

Batting—*P. M. B. Zealey 18–1–462–71*–27.17; T. J. B. Dutton-Cox 17–3–313–54–22.35; G. Spark 16–3–253–42–19.46; P. M. Tuck 17–1–262–41–16.37; J. P. Knapman 163–178–40–13.69; D. N. H. Smith 16–0–157–47–9.81.

Bowling—P. M. Tuck 194.2–63–436–35–12.45; T. J. B. Dutton-Cox 203–50–560–32–17.50; E.R.M. Gard 126–28–406–23–17.65; J. P. Knapman 55–2–275–15–18.33.

AMPLEFORTH COLLEGE

Played 17: Won 3, Lost 4, Drawn 10

Masters i/c: J. G. Willcox and Rev. J. F. Stephens

Batting—*J. M. Carter 17–1–558–99–34.87; C. L. Macdonald 16–2–389–65*–27.78; W. Beardmore-Gray 18–2–376–88–23.50; M. L. Roberts 15–5–225–50–22.50; N. Read 13–0–261–54–20.07; R. Rigby 16–0–303–46–18.93; C. Crossley 17–3–248–46*–17.71.

Bowling—J. M. Carter 124–27–326–22–14.81; M. L. Roberts 167–31–474–29–16.34; E. Soden-Bird 163–50–441–25–17.64; J. Perry 99–16–277–14–19.78; J. Porter 117–33–294–14–21.00.

ARDINGLY COLLEGE

Played 15: Won 7, Drawn 7, Lost 1

Master i/c: N. D. Duncan

Batting—A. T. Baiden 15-4-614-123-55.81; W. A. Musk 13-7-240-41*-40.00; P. S. Germain 14-2-457-89-38.08; S. Jacobsen 14-1-495-110-38.07; H. Teague 10-4-164-70*-27.33; A. J. Harris 15-0-292-63-19.46.

Bowling—I. Stringer 211.3–69–521–44–11.84; R. D. Newcomb 96.4–23–269-15-17.93; G. R. Emmerson 162–33–500–21–23.80; G. L. Calvert Lee 104.2–20–317–13–24.38.

ARNOLD SCHOOL

Played 18: Won 5, Lost 4, Drawn 9. Abandoned 2

Master i/c: S. T. Godfrey

Batting—P. A. Webb 17–3–571–103–40.78; A. J. Cardwell 16–3–359–61*–27.61; *S. A. W. Clark 17–2–402–79–26.80; J. F. Nicholson 11–5–114–31*–19.00; R. Southern 15–1–263–78–18.78; S. Beckwith 12–1–206–94–18.72.

Bowling—P. A. Webb 223–64–563–38–14.81; R. Southern 137–26–449–19–23.63; C. A. Hoskisson 136–31–403–13–31.00; S. E. Davies 100–17–318–10–31.80.

ASHVILLE COLLEGE

Played 17: Won 3, Lost 8, Drawn 6. Abandoned 2

Master i/c: J. M. Bromley

Batting—J. C. Lister 14–2–466–104–38.83; *S. H. Walsh 17–3–286–50–20.42; I. M. Feetam 12–3–132–39–14.66; C. D. Brawn 17–1–217–27–13.56; I. D. Hopper 15–4–140–41*–12.72; T. L. Holgate 12–0–134–44–11.16; D. A. Kindon 14–0–134–47–9.57.

Bowling—E. J. London 155-43-394-27-14.59; A. D. Reaks 74-14-252-17-14.82; S. H. Walsh 64-16-225-15-15.00; A. Perkins 133-42-366-22-16.63; I. D. Hopper 183-45-471-22-21.40.

BABLAKE SCHOOL

Played 18: Won 11, Lost 0, Drawn 7. Abandoned 5

Master i/c: R. A. Fewtrell

Batting—*W. J. P. Matthews 17–5–570–94*–47.50; D. A. Thorne 15–3–551–108*–45.91; M. D. White 10–5–187–63*–37.40; M. Twigger 16–1–388–66–25.86; G. Charlesworth 14–3–257–72–23.36; P. Percival 10–4–124–49–20.66.

Bowling—G. Charlesworth 142.5–38–381–41–9.29; W. J. P. Matthews 13.1–24–277–24–11.54; P. Percival 99–32–201–16–12.56; D. A. Thorne 171.56–387–29–13.34; L. J. Paul 135–36–322–24–13.41.

BANCROFT'S SCHOOL

Played 15: Won 7, Lost 4, Drawn 4. Abandoned 1

Master i/c: J. G. Bromfield

Bating—S. W. Gant 14–5–292–65*–32.44; *M. G. de Jode 15–1–430–141*–30.71; I. P. Debnam 16–4–363–104*–30.25; G. M. Fleet 16–1–345–97–23.00; J. P. Thomas 54-11-50-22.20; W. J. Head 13–3–217–54*–21.70; S. P. Laiker 14–1–282–46–21.69.

Bowling—S. W. Gant 196–58–410–36–11.38; M. G. de Jode 100–35–219–19–11.52; I. P. Debnam 187–57–479–38–12.60; R. S. Patel 90–29–235–12–19.58.

BARNARD CASTLE SCHOOL

Played 20: Won 9, Lost 4, Drawn 7. Abandoned 1

Master i/c: R. T. Mardon

Bating—G. Underwood 18–3–520–104–34.66; R. Butcher 14–0–421–87–30.05; M. Coates 9-5-107-30-26.75; D. Swinbank 18–1–443–86–26.05; J. Ashman 5–0–111–68–22.20; T. Blackburn 17–1–327–60–20.43; S. Nicholson 15–5–190–54*–19.00; A. Harvey 13-3-153-41*–15.30.

Bowling—M. Coates 225–82–504–34–14.82; R. Blamire 95–21–264–15–17.60; S. Crowther 107-63-529-28–18.89; P. Coulthard 107–15–245–12–20.41; D. Swinbank 131-14-430-10-43.00.

BEDFORD SCHOOL

Played 17: Won 9, Lost 2, Drawn 6. Abandoned 2

Master i/c: P. D. Briggs

Buting—C. J. Bell 16-4-364-70-30.33; M. C. Nutt 18-2-456-68*-28.50; D. C. R. Waterfield 19-1-457-77*-25.38; R. J. Howe 13-3-244-49*-24.40; E. Castenskiold 16-1-320-59-21.33; *S. M. Smith 19-3-326-47-20.37.

Bowling—C. J. Bell 219–57–552–44–12.54; I. T. Osborne 131–41–273–19–14.36; D. Stroud 1+20-232–14–16.57; C. Stevens 160–44–371–20–18.55; M. Singh 166–56–433–20–21.65; E. Catenskiold 126–31–287–12–23.91.

BEDFORD MODERN SCHOOL

Played 22: Won 9, Lost 4, Drawn 9. Abandoned 4

Master i/c: A. D. Curtis

Butting—A. Fordham 22–3–1,042–146–54.84; T. M. Lord 22–3–591–92–31.10; *A. K. G. Jones 22–4–502–72–27.88; S. D. Philbrook 21–7–374–53*–26.71; A. P. Oakley 17–6-215–32*–19.54.

Bowling—A. K. G. Jones 147–44–358–27–13.25; J. O. R. Jones 233.4–75–553–38–14.55; A. P. Oakley 132–42–326–19–17.15; A. D. Tyler 202.3–66–526–29–18.13; P. A. Garratt 103-45-401–22–18.22; D. F. Fishwick 101–11–419–15–27.93.

BERKHAMSTED SCHOOL

Played 14: Won 4, Lost 3, Drawn 7. Abandoned 2

Master i/c: F. J. Davis

Batting—*B. G. Evans 13-4-610-120-67.77; J. R. Neal 13-1-342-80*-28.50; P. Brown 11-2-220-59*-24.44; R. Hudson 10-3-120-24-17.14; P. Beard 11-2-137-45-15.22; S. Pearce 11-1-101-32-10.10.

Bowling—R. Hudson 65–9–186–15–12.40; B. G. Evans 76–14-233–16–14.56; J. R. Neal 166.4–35–418–26–16.07; N. Cowley 140–29–465–22–21.13; T. Warren 163–43–449–18-24.94

BIRKENHEAD SCHOOL

Played 16: Won 8, Lost 1, Drawn 7. Abandoned 1

Master i/c: M. H. Bowyer

Batting—M. P. Gamet 15–1–646–89–46.14; P. J. Sylvester 13–7–197–39–32.83; E. R. Hamilton 13–5–235–70–29.37; P. C. Barber 14–0–329–73–23.50; *S. M. Holroyd 14–2–223–59–18.58; C. D. Fletcher 11–1–185–35–18.50.

Bowling—S. McGowan 77–19–215–24–8.95; S. M. Holroyd 150.3–42–358–30–11.93; M. McGowan 116.1–18–356–23–15.47; N. V. Jeffreys 75–17–202–10–20.20; M. P. Gamet 121–27–379–16–23.68.

BISHOP'S STORTFORD COLLEGE

Played 14: Won 4, Lost 2, Drawn 8. Abandoned 1

Master i/c: D. A. Hopper

Cricket professional: E. G. Witherden

Batting—S. E. Kok 9–3–200–43–33.33; *G. K. Smith 14–3–338–72–30.72; G. E. B. Swayne 11–2–239–51–26.55; R. S. Banks 10–1–185–85*–20.55; G. L. Chapman 7–1–120–45–20.00.

Bowling—A. C. Simpson 102.2–30–259–19–13.63; R. S. Banks 163–47–325–19–17.10; G. L. Chapman 124.3–35–283–14–20.21.

BLOXHAM SCHOOL

Played 12: Won 2, Lost 4, Drawn 6

Master i/c: M. J. Tideswell

Batting—*T. J. Abraham 12–4–538–103*–67.25; T. M. Cooper 12–2–363–80–36.30; G. B. Civil 7–1–136–64*–22.66; N. J. Reynolds 11–0–152–50–13.81; J. F. Benfield 12–0–161–59–13.41.

Bowling—S. M. Gomes 53–15–114–11–10.36; I. R. Davies 52–14–119–11–10.81; M. E. B. Brown 111–22–388–22–17.63; T. M. Cooper 107.2–21–327–14–23.35.

BLUNDELL'S SCHOOL

Played 15: Won 5, Lost 0, Drawn 10. Abandoned 1

Master i/c: E. D. Fursdon

Cricket professional: E. Steele

Batting—*H. Morris 15–7–1,032–129*–129.00; R. J. Taverner 12–5–311–73*–44.42; P. S. Selley 12–1–463–100*–42.09; R. B. Hughes 16–2–279–67–19.92; M. C. Coe 14–2–111–30–9.25.

Bowling—H. Morris 152.5–40–439–25–17.56; M. C. Coe 129.2–32–386–20–19.30; H. B. Day 152.2–26–452–23–19.65; A. Morris 170.3–45–417–20–20.85; R. J. Taverner 113.4–19-458–15–30.53.

BRADFIELD COLLEGE

Played 15: Won 3, Lost 3, Drawn 9. Abandoned 1

Master i/c: R. A. Brookes

Cricket professional: J. F. Harvey

Batting—*M. J. Gent 15–0–529–114–35.26; R. S. C. Blumire 15–1–302–56–21.57; M. P. Silcock 14–1–263–55*–20.23; M. E. Wills 15–2–258–54–19.84; A. J. Johnston 14–2–230–46–19.16; M. J. Taylor 14–2–219–84*–18.25.

Bowling—A. J. Johnston 262.3–69–599–44–13.61; J. R. E. Ricketts 181.4–44–440–27–16.29; M. J. Gent 121–42–276–14–19.71.

BRADFORD GRAMMAR SCHOOL

Played 22: Won 7, Lost 8, Drawn 7. Abandoned 3

Master i/c: A. G. Smith

Bowling—T. Welsh 243.2–60–686–45–15.24; A. M. Broadbent 196–47–601–34–17.67; R. A. Sott 54.2–7–235–12–19.58; C. J. Hewitt 166–32–579–20–28.95; T. R. Adams 92-10-453–15–30.20.

BRENTWOOD SCHOOL

Played 18: Won 3, Lost 11, Drawn 4. Abandoned 1

Master i/c: A. Guyver

Cricket professional: K. Preston

Batting—S. Moore 18–8–262–35*–26.20; P. Preston 19–1–363–69*–20.16; P. Lindley 13-0-252-66–19.38; M. Wedge 9–0–172–56–19.11; P. Smaje 18–2–305–55*–19.06; R. Loughland 16–0–272–61–17.00; *W. Gear 17–0–287–39–16.88; P. Grief 9–0–106–32–11.77; T. Pryke 11–1–113–42–11.30; D. Pauffley 15–2–117–29–9.00.

Bowling—S. C. Smith 111.4-23-354-23-15.39; D. Pauffley 194.2-49-515-27-19.07; J. Dykes 131-30-405-13-31.15; P. Smaje 93-25-322-10-32.20; S. Moore 108.3-14-423-12-35.25.

BRIGHTON COLLEGE

Played 16: Won 12, Lost 1, Drawn 3. Abandoned 1

Master i/c: J. Spencer

Batting—N. J. Lenham 16–2–1,076–112–76.85; *S. C. B. Withers 15–2–403–85*–31.00; J. Appleton 9–5–101–25*–25.25; M. G. Simmonds 13–4–191–35–21.22; D. G. Shaw 14-1-266-81*–20.46; K. M. Harrison 15–2–247–65*–19.00; M. A. Bewick 11-5-114-37*–19.00.

Bowling—J. A. Gorton 248.1–68–569–49–11.61; N. J. Lenham 231–62–607–34–17.85; M. A. Bewick 110.3–30–269–15–17.93; D. J. O'Hara 126–32–394–19–20.73.

BRISTOL GRAMMAR SCHOOL

Played 15: Won 4, Lost 6, Drawn 5

Master i/c: A. J. Booth

Batting—D. J. Woolley 15–2–672–117*–51.69; T. M. Evans 9–1–140–28–17.50; D. J. Tanner 12–2–141–47–14.10; C. Nicholson 11–1–135–30*–13.50; A. M. C. Feltham 14–0–188–50–13.42; M. D. Gray 13–0–163–45–12.53.

Bowling—D. J. Tanner 99.4–20–304–19–16.00; R. P. Yelland 128.2–32–358–19–18.84; J. G. Beale 138–39–467–23–20.30.

BROMSGROVE SCHOOL

Played 14: Won 1, Lost 3, Drawn 10. Abandoned 1

Master i/c: P. R. Sawtell

Batting—D. M. Meredith 13–2–340–84*–30.90; C. E. Rostrup 13–6–176–32*–25.14; A. J. Morgan 13–0–279–79–21.46; M. R. Dudley 13–2–202–51–18.36; M. R. Thomas 11–1–141–29–14.10; C. E. Sellers 12–0–136–42–11.33.

Bowling—*S. W. Williams 186.2–41–617–39–15.82; C. E. Rostrup 78.4–18–259–14-[8.50]; J. D. Hart 129.1–28–459–23–19.95.

BRYANSTON SCHOOL

Played 13: Won 5, Lost 2, Drawn 6. Abandoned 1

Master i/c: M. C. Wagstaffe

Batting—*M. Guymer 13–2–435–70–39.54; G. Binns 13–0–434–81–33.38; R. Stanbrook 13–5–249–50–31.12; P. Partridge 13–1–259–91*–21.58.

Bowling—P. Partridge 103–20–317–30–10.56; P. Sprague 119.5–29–388–22–17.63; J. Quint 136–28–350–18–19.44; G. Locke 96.3–23–308–14–22.00; N. Davis 63.2–11–239–10–23.90.

CANFORD SCHOOL

Played 14: Won 6, Lost 5, Drawn 3

Master i/c: H. A. Jarvis

Cricket professional: D. Shackleton

Batting—*M. D. Smith 14-0-749-123-53.50; J. A. Norris 14-2-344-81*-28.66; D. Barket 14-1-261-51-20.07; J. R. Doble 10-1-105-35-11.66; D. J. S. Page 14-0-135-26-9.64.

Bowling—A. J. Paddock 145.3–35–402–24–16.75; P. G. Edwards 152.3–33-493-28-17.60; D. G. le Sueur 109.2–13–350–18–19.44; D. Barker 106.3–20–380–15–25.33.

CHARTERHOUSE

Played 21: Won 4, Lost 4, Drawn 13. Abandoned 1

Master i/c: M. F. D. Llovd

Cricket professional: R. V. Lewis

Batting—C. A. Anderson 23–2–819–104–39.00; D. M. Bennett 19–1–615–91–34.16; P. R. Durnford 21–3–479–74–26.61; *S. H. O'Brien 22–3–423–54–22.26; J. W. Gard 15–5–173–38–17.30; A. J. Challen 10–0–154–61–15.40; J. C. Davis 20–4–240–39–15.00; T. J. Stilwell 13–1–162–40–13.50; P. D. Newman 17–2–197–38–13.13.

 $_{\it Bowling}$ –P. D. Newman 275.3–70–693–46–15.06; N. T. Kingston 130–42–383–19–20.15; R. I. Rogers 284.3–83–846–41–20.63; J. C. Davis 83–20–270–10–27.00; J. D. Reid 00–46-565-19–29.73.

CHELTENHAM COLLEGE

Played 14: Won 7, Lost 1, Drawn 6. Abandoned 4

Master i/c: R. D. Knight

Cricket professional: G. A. Edrich

 $\begin{array}{l} \textit{Bating}-\text{E. A. H. P. Rowland } 14-3-607-121*-55.18; \text{C. J. Edwards } 9-2-234-58*-33.42; \text{R.} \\ \textit{P. W. Thompson } 14-1-425-107*-32.69; \text{S. P. E. Churchfield } 8-4-116-42*-29.00; \text{H. D. E.} \\ \textit{Evans } 14-2-326-78*-27.16; \text{ A. J. Brettell } 6-2-108-42-27.00; \text{ P. N. Richardson } 10-1-157-60-17.44. \end{array}$

Bowling—B. D. J. Kent 145.3–52–342–26–13.15; *P. C. D. Sykes 167.3–33–543–25–21.72; R. P. W. Thompson 145.3–38–648–27–24.00; P. G. Gent 63–16–245–10–24.50; P. D. Rehardson 95.1–36–324–13–24.92.

CHIGWELL SCHOOL

Played 11: Won 4, Lost 3, Drawn 4. Abandoned 2

Master i/c; D. N. Morrison

Butting-J. M. W. Yates 11–1–459–86–45.90; *D. A. Leiper 11–0–348–75–31.63; J. R. Maskey 9–2–132–39–18.85; J. P. Amos 9–2–122–29–17.42; I. M. Zilesnick 93-102-21–17.00; D. E. Rogers 11–1–137–27–13.70; R. C. Noble 9–0–103–33–11.44.

Bowling—M. Beaver 59–15–161–14–11.50; J. M. W. Yates 214.4–56–483–38–12.71; D. A. Leiper 126.4–37–333–17–19.58.

CHRIST COLLEGE, BRECON

Played 18: Won 9, Lost 4, Drawn 5

Master i/c: C. W. Kleiser

Butting=*S. W. Harvey 16–3–520–102*–40.00; G. E. R. Jones 14–4–256–67*–25.60; K. Noble 12-4–123–23*–15.37; P. S. Burgess 17–2–227–64*–15.13; A. B. Evans 15-2-202-62-14.42; A. P. Johnson 14–0–190–45–13.57.

Bowling—J. W. Lewis 56.5–12–103–17–6.05; S. W. Harvey 145–56–312–23–13.56; J. W. Thomas 127.5–37–324–22–14.72; P. D. Thomas 163.2–40–446–27–16.51; K. Noble 449-171–10–17.10; N. P. Gibson 128–25–432–21–20.57.

CHRIST'S HOSPITAL

Played 14: Won 3, Lost 9, Drawn 2

Master i/c: G. M. Baldwin

Bining—B. A. F. James 15—0—373—48—24.86; *T. A. P. Godfrey 16—0—300—57—18.75; P. J. Godwin 15—2—235—55—18.07; S. C. Wilson 16—0—236—28—14.75; J. D. Brown 16—3—104—28—13.00; P. N. Castledine 15—1—166—36—11.85; J. O. J. Bennett 13—1—13—40—10.27; T. I. Chrishop 14—1—126—39—9.69.

bwling—J. O. J. Bennett 68–15–203–16–12.68; K. M. Cook 62.1–13–224–13–17.23; M. R. lyner 95.1–24–311–17–18.29; T. I. Chrishop 221.2–48–635–30–21.16; P. J. Goodwin II.3-22-473–19–24.89.

CITY OF LONDON SCHOOL

Played 14: Won 1, Lost 8, Drawn 5. Abandoned 1

Master i/c: L. M. Smith

Cricket professional: L. M. Smith

Batting—W. M. Tebbit 9–0–151–57–16.77; I. Rodin 12–2–150–52*–15.00; *D. L. Berger 10–0–129–60–12.90; J. H. Whiteson 13–3–124–34–12.40; J. S. Statham 14–0–161–46–11.50.

Bowling—J. H. Whiteson 124–30–349–17–20.52; W. M. Tebbit 107.1–25–363–13–27.92; G. A. Townson 127.1–23–465–14–33.21.

CLIFTON COLLEGE

Played 16: Won 3, Lost 7, Drawn 6. Abandoned 3

Master i/c: D. C. Henderson

Cricket professional: F. J. Andrew

Bowling—C. W. V. Robins 252–77–648–42–15.42; J. C. de L. Wright 213–51–556–30-18.53; S. C. Hazlitt 86–8–345–16–21.56; D. R. Brown 109–21–387–13–29.76.

COLFE'S SCHOOL

Played 19: Won 5, Lost 4, Drawn 10

Batting—G. Tomkins 17–2–410–89–27.33; A. Byers 17–0–432–105–25.41; A. Saleemi 13–3–229–51*–22.90; *A. Rodgers 17–5–242–64*–20.16; K. Weir 17–0–228–60-13.41; T. Bloomfield 13–2–135–33–12.27; N. Bryan 14–1–113–29–8.69.

Bowling—D. Beszant 127–36–302–29–10.41; A. Rodgers 263–87–635-49–12.95; M. Davies 27–0–147–10–14.70; A. Byers 93–15–303–17–17.82.

COLSTON'S SCHOOL

Played 17: Won 7, Lost 3, Drawn 7. Abandoned 2

Master i/c: M. P. B. Tayler

Cricket professional: R. A. Sinfield

Batting—L. M. Roll-17-6-757-101*-68.81; W. M. Smith 17-2-750-105*-50.00; *N. H. Parnell 14-2-566-114-47.16; S. R. Thomas 11-7-132-35*-33.00; D. C. Kettlewell 13-2-244-66*-22.18.

Bowling—I. Coles 47.3–3–194–11–17.63; R. Lawrence 93.4–10–415–22–18.86; N. H. Pamell 132.1–16–567–27–21.00; S. Luxton 115.3–16–451–18–25.05; L. M. Roll 183.5–33–684–26–26.30.

CRANBROOK SCHOOL

Played 14: Won 0, Lost 9, Drawn 5. Abandoned 1

Masters i/c: T. Gunn and J. Furminger

Bowling—A. Ward 179–38–544–33–16.48; C. Coleman 206.5–47–643–35–18.37; C. Rotherton 103–26–319–14–22.78.

CULFORD SCHOOL

Played 14: Won 7, Lost 2, Drawn 5. Abandoned 2

Batting—*R. Guy 16-4-467-100*-38.91; P. Rackham 15-5-312-104-31.20; K. Spencer 15-2-350-66-26.92; P. Hazell 12-0-178-51-14.83; A. Dahl 16-1-218-49-14.53; D. Carey 10-2-108-46*-13.50.

Bowling—K. Spencer 92.3–22–252–19–13.26; P. Hazell 108–22–332–19–17.47; C. Williams 158.4-43.435–24–18.12.

DAUNTSEY'S SCHOOL

Played 13: Won 3, Lost 3, Drawn 7. Abandoned 2

Master i/c: M. K. F. Johnson

Cricket professional: P. Hough

Batting—I. Hassall 6–3–117–60*–39.00; R. L. Baker 13–2–294–86*–26.72; *J. D. Livingstone 13–1–272–55–22.66; P. R. Holford 10–2–138–58–17.25.

Bowling-D. C. Masters 94.5-17-315-17-18.52; P. R. Holford 159-20-588-24-24.50.

DEAN CLOSE SCHOOL

Played 15: Won 2, Lost 5, Drawn 8. Abandoned 1

Master i/c: C. M. Kenyon

Cricket professional: V. A. Holder

Butting—P. M. Vincent 13–2–380–105*–34.54; *M. P. A. Crawshaw 15–2–419–129–32.23; D. J. H. Leng 11–0–195–41–17.72; N. Butt 7–0–101–29–14.42; H. M. Davies-Thomas 13–0-144-63–11.07; C. R. Torrens 11–0–107–26–9.72.

Bowling—R. N. K. O. A. Lindsay 117-26-265-15-17.66; P. M. Vincent 1223-24-398-19-20.94; O. J. Barkes 95-11-376-16-23.50; J. F. Eveleigh 102-24-344-10-34.40

DENSTONE COLLEGE

Played 18: Won 5, Lost 2, Drawn 11. Abandoned 4

Master i/c: D. J. Dexter

Cricket professional: H. J. Rhodes

Butting—M. N. Aris 15–2–583–110–44.84; S. A. Roy 13–3–383–98*–38.30; А. J. Little 14-3–230-66–20.90; С. M. Ireland 14–2–207–60*–17.25; М. R. Bollard 11–0–124–42–11.27.

Bowling—A. J. Little 253.2–72–598–43–13.90; *J. P. D. Cadman 170.4–45–469–25–18.76; M. N. Aris 212–61–497–25–19.88.

DOVER COLLEGE

Played 17: Won 3, Lost 8, Drawn 6. Abandoned 3

Master i/c: R. S. Quinton-Jones

Cricket professional: A. H. Drake

Batting—*J. Corbett 14–3–251–36*–22.81; B. Slater 16–3–292–75*–22.46; J. Tatt 15–2–263–67–20.23.

Bowling—D. Carrion 183–58–392–31–12.64; A. Iliasu 209–60–543–28–19.39; N. Coupland 92–19–284–12–23.66; J. Tatt 94–10–410–12–34.16.

DOWNSIDE SCHOOL

Played 11: Won 0, Lost 7, Drawn 4. Abandoned 1

Master i/c: D. Baty

Batting—*P. A. N. Dougall 11–1–233–66*–23.30; A. G. M. Wates 6–1–112–30–22.40; N. R. J. Mackenzie 11–0–226–72–20.54; C. D. Chignell 9–1–127–43*–15.87; A. P. Smerdon 11–2–125–34–13.88; S. C. Vyvyan 11–0–146–35–13.27.

Bowling-M. J. Smith 120.1-22-477-11-43.36.

DURHAM SCHOOL

Played 18: Won 10, Lost 1, Drawn 7

Master i/c: W. J. R. Allen

Cricket professional: M. Hirsch

Batting—M. A. Roseberry 16–3–839–137*–64.53; *N. P. Tubbs 14–4–391–63–39.10; C. R. Mayes 17–2–402–81–26.80; J. Foley 13–3–223–61*–22.30; B. M. Hume 16–5–227–44–20.63; G. D. Dawson 12–1–205–61–18.63; J. M. Alderson 12–4–116–33–14.50.

Bowling—M. A. Roseberry 183.1–68–432–38–11.36; N. P. Tubbs 213–81–474–30-15.80; A. G. Hay 132–34–347–16–21.68; J. M. Alderson 194.2–73–409–18–22.72; B. M. Hume 195.4–52–538–23–23.39.

EASTBOURNE COLLEGE

Played 19: Won 8, Lost 4, Drawn 7

Master i/c: C. F. A. T. Halliday

Cricket professional: A. E. James

Batting—J. R. Prentis 18–0–580–87–32.22; T. G. Bevan-Thomas 18–2–489–86–30.56; M.O. Simpson 18–2–455–101*–28.43; M. H. Edwardes-Evans 18–0–408–82–22.66; S. M. Wheeler 16–2–269–51–19.21; *S. K. Kiley-Worthington 16–4–183–51*–15.25; J. C. Wallace 17–7–139–20–13.90; D. J. W. Lush 13–2–117–25–10.63.

Bowling—J. R. Prentis 282.3–75–781–43–18.16; J. C. Wallace 163.3–50–411–22–18.68; S. R. Davis 251.2–56–851–35–24.31.

THE EDINBURGH ACADEMY

Played 16: Won 5, Lost 5, Drawn 6

Master i/c: A. R. Dyer

Batting—G. R. Mawdsley 18–2–571–83*–35.68; *I. D. Zuill 18–3–446–104-29.73; J. F. Richardson 16–3–343–71–26.38; R. A. Mawdsley 18–1–367–53–21.58; J. D. Kudianavala 12–4–131–28–16.37; A. L. Paton 15–3–186–34–15.50; A. F. Gunn 12–0–151–42–12.58; J. McFlynn 13–1–121–34–10.08.

Bowling—B. J. M. Clube 319.3–73–909–52–17.48; R. J. A. Coleman 167–45–409–20–20.45; G. R. Mawdsley 228.1–52–620–27–22.96; J. D. Kudianavala 153–44–384–15–25.60.

ELLESMERE COLLEGE

Played 17: Won 5, Lost 1, Drawn 11. Abandoned 1

Master i/c: R. K. Sethi

 $\begin{array}{l} \textit{Batting} - R. \ T. \ Millinchip \ 15-5-307-103^*-30.70; \ T. \ J. \ R. \ Petty \ 17-2-453-80^*-30.20; \ D. \ M. \\ P. \ Maisey \ 15-9-180-51-30.00; \ G. \ L. \ Home \ 17-3-404-75^*-28.85; \ ^*A. \ I. \ Crow \ _{16-2-286-60^*-20.42; \ J. \ P. \ P. \ Maisey \ 17-1-260-70^*-16.25. \end{array}$

 $_{\it Bowling}$ —G. L. Home 100–27–292–20–14.60; D. M. P. Maisey 127–37–330–22–15.00; T. J. R. Petty 128.3–29–364–17–21.41; D. V. Millward-Hopkins 148.5–26–433–20–21.65; M. N. G. Stubbs 120–11–521–20–26.05.

ELIZABETH COLLEGE, GUERNSEY

Played 14: Won 1, Lost 5, Drawn 8

Master i/c: A. Croft

Batting—*D. J. Mechem 14–2-415–52–34.58; C. D. Waldron 13–1–366–61–30.50; G. Mellor 14–262–52–18.71; B. A. Mauger 14–1–220–60–16.92; A. Tapp 12–0–175–84–14.58.

Bowling—N. M. Mechem 67.3–19–174–15–11.60; S. Blake 66.1–11–161–10–16.10; B. A. Mauger 108.4–26–352–17–20.70; J. Mattinson 118.5–28–421–18–23.38; D. J. Mechem 157.5-37–457–18–25.38; A. Tapp 135–12–527–12–43.91.

ELTHAM COLLEGE

Played 25: Won 17, Lost 2, Drawn 6. Abandoned 2

Master i/c: P. C. McCartney and B. M. Withecombe

Batting—*M. R. Surguy 23–9–1,159–119*–82.78; M. J. Holcombe 22–4–1,039–155*–57.72; B. A. Holcombe 17–6–287–59*–26.09; I. Whalley 16–6–211–50*–21.10; M. G. Pratt 13-6–132–47*–18.85; J. R. S. Brown 7–0–116–43–16.57; T. Haden-Scott 13-3-113–7-13.87; A. Baidya 17–6–133–27–12.09; N. S. Williams 11–0–116–33–10.54; W. H. Wright 13–1–126–39–10.50.

Bowling—N. S. Williams 73.5–15–194–17–11.41; M. G. Pratt 141.3–28–433–33–13.12; M. R. Surguy 216.4–79–403–30–13.43; B. A. Holcombe 169–48–370–25–14.80; M. J. Holcombe 322.5-60-608-41–14.82; T. Haden-Scott 124.3–37–272–15–18.13.

EMANUEL SCHOOL

Played 28: Won 12, Lost 9, Drawn 7. Abandoned 2

Master i/c: M. J. Stewart

Batting—*D. I. K. Blyth 27–3–711–119*–29.62; I. M. Carrick 25–3–536–72–24.36; A. J. Flind 7-0–153–86–21.85; S. Sharma 25–0–513–72–20.52; F. Ahmed 24–1–382–92–16.60; A. J. Hope 15–6–133–36*–14.77; G. G. DiLullo 18–3–198–25*–13.20; G. P. Piddington 164–149–38–12.41; S. J. Park 21–3–153–29–8.50; R. D. Hinkson 21–3–136–19–7.55; P. T. Williams 21–5–108–14–6.75.

Bowling—A. J. Hope 101–20–316–27–11.70; P. T. Williams 103.3–19–438–34–12.88; G. P. Piddington 149.1–31–456–32–14.25; T. J. Harmer 53–9–185–12–15.41; W. C. Passanisi 80-19–288–16–18.00; D. I. K. Blyth 160.2–34–486–24–20.25; I. M. Carrick 240-53-691–33–20.93; F. Ahmed 113–33–262–12–21.83.

ENFIELD GRAMMAR SCHOOL

Played 19: Won 8, Lost 4, Drawn 7. Abandoned 2

Master i/c: J. J. Conroy

Batting—G. Allen 15–2–454–86–34.92; *B. Conway 16–4–408–76*–34.00; R. Carter 5–1–131–62–32.75; N. Jackett 12–2–173–38–17.30; A. Gibbens 14–1–207–59–15.92; G. Jardine 12–0–177–64–14.75.

Bowling—R. Carter 64–22–167–18–9.27; T. Phocou 40.5–8–124-13–9.53; R. Low 141.3–43–290–26–11.15; S. Humphries 199.5–64–462–30–15.40; N. Jackett 155–26–489–17–28.76.

EPSOM COLLEGE

Played 18: Won 10, Lost 2, Drawn 6

Master i/c: J. T. J. Houlson

Batting—*R. M. C. Williams 19–5–1,013–131–72.35; J. R. Ansell 14–0-626-124-44.71; R. V. Williams 17–2–415–121*–27.66; P. R. Hedge 14–2–328–51*–27.33; M. B. Finnigan 16–5–296–72–26.90; C. D. R. Hartigan 11–2–124–34–13.77; M. J. Morris 15–4–135–22–12.27.

Bowling—M. J. Morris 240–56–645–38–16.97; D. G. Henwood 147–32–506-24-21.08; D. A. Harris 85–15–324–11–29.45; J. N. Barnado 117–17–473–15–31.53; R. M. C. Williams 99–16–418–13–32.15; C. D. R. Hartigan 129–28–482–14–34.42.

ETON COLLEGE

Played 15: Won 8, Lost 0, Drawn 7. Abandoned 1

Master i/c: P. R. Thackeray

Cricket professional: V. H. D. Cannings

Batting—M. V. Fleming 17–3–648–90–46.28; *C. A. Watt 8–4–149–42–37.25; J. P. Berry 15–5–339–54–33.90; M. H. Brooks 16–3–325–71*–25.00; W. A. B. Russell 9–4–110–23–22.00.

Bowling—M. V. Fleming 282.5–130–490–36–13.61; C. E. Pettifer 134.4–36–318-20-15.90; J. W. M. Barlow 85–24–229–14–16.35; C. A. Watt 202.1–46–597–33–18.09; Hon. E. Brassey 179–47–443–20–22.15.

EXETER SCHOOL

Played 10: Won 5, Lost 2, Drawn 3. Abandoned 3

Master i/c: T. J. Dewes

Batting—*P. Hodgson 10–2–397–79*–49.62; D. Cox 10–1–221–50–24.55; T. Nash 9–0–219–56–24.33; R. Hudson 9–2–136–38*–19.42.

Bowling—P. Clarke 84.1–19–284–18–15.77; I. Hayter 91–29–245–14–17.50; R. Hudson 61.2–13–215–12–17.91.

FELSTED SCHOOL

Played 15: Won 10, Lost 1, Drawn 4

Master i/c: T. P. Woods

Cricket professional: G. O. Barker

Batting—J. P. Stephenson 15–4–873–131–79.36; A. B. Mitchell 15–2–570–82–43.84; M. W. C. Olley 12–3–316–67–35.11; E. C. Dodson 12–4–260–44–32.50; P. M. Rigby 9–2–156–71–22.28.

Bowling—J. P. Stephenson 127.1-42-322-24-13.41; *B. H. Pinkerton 269.4-84-624-46-13.56; A. J. Haynes 167.2-46-527-31-17.00; G. A. Lambert 173-34-550-16-34.37.

FETTES COLLEGE

Played 12: Won 4, Lost 3, Drawn 5

Master i/c: J. G. Begg

Batting—*G. F. Barnet 13–1–405–72–33.75; C. W. D. Scott 13–0–356–71–27.38; D. F. M. Stewart 12–2–233–64*–23.30; A. J. M. Gilfillan 13–1–249–66–20.75; C. J. Barker 10–1-148–37–16.44; N. I. S. Jones 12–0–133–35–11.08; N. M. Ferguson 12–2–110–27*–11.00.

Bowling—R. N. Cheape 98–19–318–21–15.14; C. J. Barker 124.1–30–396–22–18.00; I. C. S. Ramsay 117.5–28–348–17–20.47.

FOREST SCHOOL

Played 16: Won 9, Lost 3, Drawn 4. Abandoned 2

Master i/c: M. Surridge

Cricket professional: W. B. Morris

Batting—M. D. I. Sheppard 14–2–501–101*–41.75; R. J. Harnack 13–2–384–69*–34.90; *I. Crossley 14–3–373–75*–33.90; B. S. Watts 10–7–101–49*–33.66; A. Hussain 15-3-385–65–32.08; C. M. Elliott 14–1–391–77–30.07; A. C. Cundy 12–2–208–47–20.80.

Bowling—N. Hussain 180–47–448–32–14.00; S. Shivalkar 113–28–335–20–16.75; C. M. Elliott 65–11–251–14–17.92; M. Phillips 84–18–233–12–19.41; I. Crossley 157-33-490–25–19.60.

FRAMLINGHAM COLLEGE

Played 18: Won 6, Lost 6, Drawn 6. Abandoned 2

Master i/c: S. A. Westley

Cricket professional: C. Rutterford

Batting—N. C. J. Holmes 17–0–416–78–24.47; M. R. Brearey 12–4–168–43–21.00; J. R. Gubbins 13-4–186–29–20.66; T. J. Mayhew 18–0–370–47–20.55; A. C. Pulham 16-3–267–77*–20.53; *C. G. S. Pattinson 16–4–227–54–18.91; J. L. Arthur 12-0-204-56–17.00; A. J. Phillips 10–1–146–53*–16.22; D. A. Rimmer 14–0–192–35–13.71.

Bowling—P. M. Hunter 256.5–63–551–34–16.20; C. G. S. Pattinson 239–52–644–39–16.51; N.C. J. Holmes 165.5–41–501–23–21.78; J. R. Gubbins 126.5–27–395–18–21.94.

GIGGLESWICK SCHOOL

Played 13: Won 4, Lost 3, Drawn 6. Abandoned 3

Master i/c: J. Mayall

Cricket professional: I. W. Callen

Butting—R. M. White 12–1–371–131*–33.72; *J. B. Newsome 13–2–369–59–33.54; N. C. Westlead 13–1–151–42–12.58; M. J. Nuttall 13–0–125–23–9.61.

Bolling—J. B. Newsome 142.2–37–353–27–13.07; N. C. Westhead 58.2–3–230–16–14.37; B. L. Baldwin 94.4–19–253–14–18.07; C. A. Chapman 156–24–463–24–19.29.

GLENALMOND

Played 15: Won 8, Lost 3, Drawn 4. Abandoned 1

Master i/c: Alwyn James

Cricket professional: W. J. Dennis

Batting—*J. Everett 14–2–633–112–52.75; J. Sutton 15–1–417–75–29.78; C. B. G. Watson 13–1–313–65–26.08; S. J. Lewis 15–0–329–57–21.93; M. H. Alexander 11–4-133–27–19.00; E. M. T. Crichton 13–0–123–52–9.46.

Bowling—S. J. Lewis 100.2–13–345–23–15.00; J. M. MacLean 164.3–40–461–29–15.89; J. F. Alexander 159–36–397–21–18.90; M. H. Alexander 115.2–16–408–16–25.50; C. B. G. Watson 73–15–263–10–26.30.

GORDONSTOUN SCHOOL

Played 13: Won 7, Lost 4, Drawn 2

Master i/c: P. S. Larkman

Batting—*R. P. J. Heyes 11–1–345–106*–34.50; R. L. W. Alexander 10–2–143–52*–17.87; M. B. Johnston 10–0–139–30–13.90; M. S. Halbert 11–1–109–27–10.90.

Bowling—R. P. J. Heyes 52.5–13–142–17–8.35; C. R. Mason 66–18–161–19–8.47; K. M. Mordue 55.3–5–247–26–9.50.

THE HABERDASHERS' ASKE'S SCHOOL, ELSTREE

Played 16: Won 9, Lost 1, Drawn 6. Abandoned 4

Master i/c: D. I. Yeabsley

Batting—D. J. Price 12–3–404–77*–44.88; N. J. Churchman 13–4–357–79*–39.66; *N. J. Wood 16–1–523–89–34.86; A. J. Moulding 15–5–342–56–34.20; E. Addy 11–4–198–37–28.28; D. G. Price 12–2–268–57*–26.80.

Bowling—A. J. Moulding 133.1–38–374–33–11.33; D. G. Price 82–22–236–14–16.85; R. A. Pitt 150.3–34–448–26–17.23; A. Dawtrey 150.4–47–368–21–17.52; N. J. Churchman 105–19–302–11–27.45.

HAILEYBURY COLLEGE

Played 16: Won 5, Lost 4, Drawn 7. Abandoned 3

Master i/c: M. S. Seymour

Cricket professional: P. M. Ellis

Batting—*J. E. Harding 17–1–506–76–31.62: M. J. Churchill 15–1–387–70*; 27.64; l. C. West 13–2–277–78–25.18; S. L. Feast 13–3–205–45–20.50; R. J. O. Graham 17–3–254–53*–18.14; D. M. Sawney 11–0–189–53–17.18.

Bowling—T. P. Jackson-Feilden 218-37-615-48-12.81; J. W. S. Meacock 131-27-274-14-19.57; J. E. Harding 214-51-554-26-21.30; J. R. Jackman 153-29-438-14-31.28.

HAMPTON SCHOOL

Played 21: Won 9, Lost 3, Drawn 9

Master i/c: G. R. Cocksworth

Batting—T. R. Eastaugh 12–3–334–99*–37.11; *E. M. Turnill 18–2–537–103*–33.56; S. A. Bishop 14–3–345–70*–31.36; C. Hind 15–2–325–61*–25.00; P. Burnham 12–1243–63–22.09; S. Edwards 14–2–197–42–16.41; G. J. Collins 11–1–134–29–13.40; M. Tumer 16–0–136–26–8.50.

Bowling—J. Shepherd 127.1–31–342–24–14.25; T. R. Eastaugh 159.2–29–513–29–17.68; C. Hind 78–28–242–12–20.16; P. Johnstone 123.5–20–382–18–21.22; G. M. W. Stacey 111–19–310–13–23.84; G. J. Collins 144.4–40–397–12–33.08.

HARROW SCHOOL

Played 14: Won 2, Lost 0, Drawn 12. Abandoned 2

Master i/c: G. M. Attenborough

Cricket professional: P. Davis

Batting—J. M. H. Ford 13–3–433–89–43.30; W. A. Menpes-Smith 9–3–229–58–38.16; J. W. S. Raper 14–2–443–101*–36.91; N. F. M. Hay 10–2–192–55–24.00; J. D. R. Field 114–155–31–22.14; *J. F. Turner 13–1–234–35–19.50.

Bowling—P. R. G. Murray 227–50–600–38–15.78; J. W. S. Raper 129–28–311–19–16.36; D. St.J. B. Beard 219–74–467–27–17.29; N. F. M. Hay 85–23–240–11–21.81.

HEREFORD CATHEDRAL SCHOOL

Played 8: Won 2, Lost 3, Drawn 3. Abandoned 2

Master i/c: M. V. Howlett

Batting-J. Ferguson 6-0-129-34-21.50; S. Makin 7-1-102-33-17.00.

Bowling-D. Phillips 56.3-12-181-17-10.64; N. Startin 32-8-107-10-10.70.

HIGHGATE SCHOOL

Played 15: Won 2, Lost 6, Drawn 7

Master i/c: R. W. Halstead

Batting—N. Rathbone 9–6–119–30–39.66; *K. E. Kenny 13–0–432–61–33.23; T. K. Crick 134–255–63–19.61; A. Walton 12–0–203–41–16.91; A. Ferrari 13–1–193–87*–16.08; N. J. Banks 10–1–127–42*–14.11; A. C. Fawden 13–1–163–40–13.58.

Bowling-A. C. Fawden 192-38-500-28-17.85; K. E. Kenny 163-24-503-22-22.86.

HIPPERHOLME GRAMMAR SCHOOL

Played 18: Won 7, Lost 4, Drawn 7. Abandoned 1

Master i/c: J. M. Edwards

Bating—D. F. Rayner 18–4–491–71*–35.07; K. D. Booth 18–3–310–66–20.66; C. A. Tumpson 14–2–248–46–20.66; *R. S. Butterworth 17–1–327–75*–20.43; E. J. Armitage 15-162–30–16.20; *J. B. Lunn 16–0–154–40–9.62.

Bowling—R. S. Butterworth 63.3–19–174–15–11.60; J. R. N. Broster 186.1–55–469–28–16.75; R. E. Shaw 106.2–21–376–22–17.09; M. J. Hopwood 129–25–388–20–19.40; P. Deegan 182–48–496–23–21.56.

HURSTPIERPOINT COLLEGE

Played 15: Won 3, Lost 5, Drawn 7. Abandoned 1

Master i/c: M. E. Allbrook

Cricket professional: D. J. Semmence

Batting—M. D. Foulds 14–5–418–115*–46.44; J. B. Buckeridge 15–5–380–73–38.00; J. P. Graham 7–1–149–64–24.83; *T. J. Thorne 11–2–192–45–21.33; A. J. L. Sawers 15–1–262–58–18.71; A. P. Subba Row 10–1–152–53–16.88; J. P. Terry 8–1–100–31–14.78

Bowling—G. J. Alexander 152.5–19–571–32–17.84; J. R. C. Lamb 59.3–9–246–13–18.92; S. R. Taubman 105.2–19–353–15–23.53; D. A. Procter 77–10–322–10–32.20.

IPSWICH SCHOOL

Played 13: Won 2, Lost 7, Drawn 4

Master i/c: P. M. Rees

Batting—J. Nicholls 12-4-257-74*-32.12; T. Rollett 12-1-351-108*-31.90; E. Downie 12-0-317-78-26.41; B. Caley 11-3-170-48-21.25; *M. Prior 9-3-107-30-17.83.

Bowling—M. Prior 49.1–9–197–10–19.70; M. Mitson 80.1–17–216–10–21.60; J. Nicholk 161.4–33–523–23–22.73; S. Priscott 204.2–42–581–25–23.24.

KIMBOLTON SCHOOL

Played 15: Won 3, Lost 6, Drawn 6. Abandoned 1

Master i/c: I. J. Burton

Cricket professional: J. W. Hart

Batting—S. A. Sharpe 15–3–441–77*–36.75; R. A. Johnson 15–2–249–53*–19.15; B. B. G. D. Aylott 15–1–243–58–17.35; S. L. Simpson 15–1–210–46–15.00; *A. C. Whitman 15–0–208–45–13.86; A. J. Cox 14–0–147–33–10.50.

Bowling—P. A. J. Brittain 62.4–16–161–12–13.41; S. A. Sharpe 186–72–466–29–16.06; S. R. P. Doyle 92.5–24–242–15–16.13; R. A. Johnson 116.4–26–366–16–22.87; C. J. Street 119.3–25–340–11–30.90.

KING EDWARD VI SCHOOL, SOUTHAMPTON

Played 22: Won 8, Lost 3, Drawn 11

Master i/c: M. H. May

Batting—*A. W. Gilbert 17–2–735–100–49.00; M. E. O'Connor 13–2-422–86*–38.36; M.P. Board 14–3–287–65*–26.09; S. P. Arnold 20–1–436–58–22.94; R. M. A. Metalfe 16–3–227–66–17.46; R. P. Headington 15–3–207–50–17.25; P. A. Watkins 14–3–135–31–12.27; R. T. Minns 15–3–120–31–10.00.

Bowling—J. E. Merrill 138–30–379–31–12.22; S. P. Arnold 86.3–20–273–14–19.50; R. J. Cross 106.3–23–397–20–19.85; S. D. Lambert 130.3–16–581–24–24.20; R. T. Mints 81–12–320–10–32.00.

KING EDWARD VI COLLEGE, STOURBRIDGE

Played 16: Won 6, Lost 1, Drawn 9. Abandoned 4

Master i/c: M. L. Ryan

Batting—D. M. Anderson 13–5–295–63*–36.87; D. J. Bullock 13–7–186–39*–31.00; R. N. Tolley 14–3–307–58*–27.90; D. J. Shorter 13–1–262–45–21.83; J. Hill 13–1–220–68–18.33; P. J. T. Miles 14–0–196–47–14.00.

Bowling—D. J. Shorter 202–62–428–44–9.75; D. J. Bullock 167.2–54–362–34–10.64; M. J. Price 69–16–209–13–16.07; *P. N. Shillingford 139.1–32–358–18–19.88.

KING EDWARD VII SCHOOL, LYTHAM

Played 21: Won 5, Lost 3, Drawn 13. Abandoned 3

Master i/c: J. A. Liggett

Batting—G. Cartmell 21–3–587–107–32.61; A. Thornton 21–2–509–104–26.78; N. D. W. McDonnell 21–3–415–79*–23.05; M. Lees 18–2–283–53*–17.68; G. Banning 164–125-26–10.41; T. Williamson 15–1–136–25–9.71.

Bowling—A. Gregson 172.1—49—443—34—13.02; N. D. W. McDonnell 129—22—402—25—16.08; J. Cooper 76.1—21—203—12—16.91; J. Evans 226.5—52—586—34—17.23; G. Cartmell 1/3-16-257—14—18.35.

KING EDWARD'S SCHOOL, BATH

Played 9: Won 2, Lost 1, Drawn 6. Abandoned 1

Master i/c: D. J. Kemp

Buting—N. Cahn 7–3–199–64*–49.75; *N. Walker 9–1–226–53–28.25; P. Beresford 14-170-88-24.28; R. Vowles 9–0–170–40–18.88; C. Woods 9–0–134–35–14.88.

Bowling—N. Cahn 51–14–208–18–11.55; J. Brown 75–18–122–10–12.20; M. Lowe 12-12-194-11–17.63; M. Thomas 83–22–241–12–20.08.

KING EDWARD'S SCHOOL, BIRMINGHAM

Played 15: Won 5, Lost 3, Drawn 7. Abandoned 3

Master i/c: D. H. Benson

Cricket professional: A. Smith

Batting—M. K. Hughes 16–5–529–71–48.09; C. Ibbetson 16–4–312–51–26.00; N. A. Willetts 14-2-301–116–25.08; J. R. Bishop 16–0–272–57–17.00; N. V. Subhedar 13-5-112-38*–14.00; *S. J. Laugharne 15–0–161–44–10.73.

Bowling—P. W. Nienow 51–16–136–10–13.60; C. Ibbetson 139.1–46–331–21–15.76; M. K. Hughes 143.3–35–380–22–17.27; J. G. Masters 100.5–36–254–13–19.53; D. C. Tyler 121.1–17-449–21–21.38; A. N. Marshall 118.5–28–327–11–29.72.

KING HENRY VIII SCHOOL, COVENTRY

Played 17: Won 3, Lost 5, Drawn 9. Abandoned 4

Master i/c: G. P. C. Courtois

Buting—P. M. Smith 16–2–339–69*–24.21; K. L. Culligan 15–0–322–43–21.46; D. R. Swell 16-1–255–43–17.00; E. A. Ansari 13–4–144–28–16.00; J. G. Bieszczad 16-1–203–41–13.53; *I. L. Robertson 15–1–175–51–12.50; A. C. Wallbridge 12-1-134-33–12.18.

Bowling—P. C. Williams 39.5–5–145–11–13.18; I. L. Robertson 195.2–69–499–32–15.59; C. J. Harrison 196.2–67–486–25–19.44; E. A. Ansari 76.2–14–243–11–22.09

KING WILLIAM'S COLLEGE, I. of M.

Played 20: Won 3, Lost 4, Drawn 13

Master i/c: A. Q. Bashforth

Cricket professional: D. Mark

Batting—S. C. Watson 22–3–857–103*–45.10; N. A. R. Watson 20–3–534–101*–31.41; A.J. A. Turnbull 20–4–372–47–23.25; R. K. Corkill 21–2–398–66–20.94; D. N. J. Turnbull 14–6–150–53*–18.75; N. R. J. Cowley 13–1–159–30*–13.25.

Bowling—R. J. S. Talavera 104–26–274–18–15.22; D. A. J. Butterfield 134.5–43–316–20–15.80; N. A. R. Watson 194.5–41–574–34–16.88; A. J. A. Turnbull 293.1–66–804–31–25.93; *G. L. Russell 157.4–29–550–18–30.55.

KING'S COLLEGE, TAUNTON

Played 15: Won 9, Lost 1, Drawn 5

Master i/c: P. A. Dossett

Cricket professional: R. E. Marshall

Batting—*R. J. Harden 16–1–633–92–42.20; N. D. Everest 16–2–412–57–29.42; J. M. A. Cassell 10–4–172–42*–28.66; S. J. Kaye 16–1–311–51–20.73; G. R. N. Drayton 14–3–197–47*–17.90; J. W. M. Bell 14–0–161–58–11.50; G. T. W. Cashell 11–2–103–29–11.44.

Bowling—R. J. Harden 226.1–80–446–48–9.29; A. J. Willson 117.2–35–364-22-16.54; G. R. N. Drayton 68–14–221–12–18.41; J. R. G. Bird 199.5–46–489–26–18.80; J. A. Tumer 124–29–376–15–25.06.

KING'S COLLEGE SCHOOL, WIMBLEDON

Played 20: Won 10, Lost 3, Drawn 7. Abandoned 2

Master i/c: A. G. P. Lang

Cricket professional: R. A. Dare

Batting—J. H. Frost 18–2–444–91–27.75; R. Alikhan 17–2–363–67–24.20; P. J. Morse 18–2–386–103–24.12; *S. W. J. Silvester 19–1–405–55–22.50; N. P. Montgomery 12–5–132–32–18.85; J. D. Lamb 14–0–253–54–18.07; J. A. Casale 12–4–142–28*–17.75; M. J. Jayarajah 8–1–100–42–14.28; P. S. Noble 13–4–122–33*–13.55.

Bowling—J. D. Lamb 42.1–9–133–10–13.30; N. P. Montgomery 226.4–67–528–38–13.89; P. S. Noble 206.3–56–485–32–15.15; R. Alikhan 100–16–209–13–16.07; S. A. C. Hammer 154–36–429–25–17.16; P. J. Morse 78–24–193–11–17.54; M. Woolnough 129.5–43–304–17–17.88.

KING'S SCHOOL, BRUTON

Played 11: Won 4, Lost 3, Drawn 4. Abandoned 3

Master i/c: A. S. Linney

Batting—I. C. D. Stuart 11–3–433–88–54.12; S. H. Maxwell 9–3–201–84*–33.50; C. E. Budgett 8–3–148–50*–29.60; R. C. Gainher 11–1–288–106*–28.80; S. T. Harvey 11–0–186–49–16.90; C. G. Weir 9–0–124–40–13.77.

Bowling—I. C. D. Stuart 141.1–23–425–25–17.00; J. D. M. Bruce 68–15–224–13-17.23; C. G. Weir 90.3–23–206–11–18.72; *P. F. McIntyre 162–37–464–24–19.33; R. C. Gainher 68.5–9–263–10–26.30.

THE KING'S SCHOOL, CANTERBURY

Played 15: Won 8, Lost 1, Drawn 6

Master i/c: A. W. Dyer

Cricket professional: D. V. P. Wright

 $\begin{array}{l} \textit{Batting}\text{--D. J. R. Hildick-Smith } 13-2-500-92-45.45; \ P. \ G. \ Bromley } 15-3-532-97-44.33; \\ \text{--P. J. Cranston Smith } 15-2-446-75-34.30; \ D. \ J. \ Pritchard } 9-3-145-46^*-24.16; \ S. \ J. \ S. \ Lark \\ \text{--124-148-44^*-18.50;} \ R. \ W. \ G. \ Oliver \ 15-2-237-38-18.23; \ J. \ H. \ A. \ Albin \\ \text{--1235-62^*-18.07.} \end{array}$

Bowling—C. J. Wheeler 70–20–191–17–11.23; D. N. S. Kenney 112.5–45–238–19–12.52; D. J. Pritchard 143.2–30–339–26–13.03; R. W. G. Oliver 119–22–535–33–16.21; S. M. Parrott 135.2–32–407–23–17.69.

THE KING'S SCHOOL, ELY

Played 12: Won 5, Lost 1, Drawn 6

Master i/c: R. M. Parsons

Batting—T. S. May 12–4–335–103–41.87; A. R. J. Manktelow 11–1–201–37–20.10; A. G. Woodcock 12–0–211–37–17.58; J. A. T. Lankfer 9–2–112–37*–16.00; M. Chamberlain 10-1–138–33–15.33.

Bowling—*J. P. Hulme 137–45–273–24–11.37; M. Chamberlain 45–5–174–15–11.60; T. S. May 131–21–428–33–12.96.

THE KING'S SCHOOL, MACCLESFIELD

Played 22: Won 5, Lost 9, Drawn 8. Abandoned 4

Master i/c: I. A. Wilson

Batting—P. A. Manning 22–3–615–101*–32.36; C. J. R. Eccles 18–6–282–41–23.50; S. R. Hope 20–0–379–55–18.95; S. A. Hoole 20–4–297–59–18.56; T. I. Moore 21–1-319–56–15.95; R. A. D. Laughton 17–3–214–53*–15.28; A. J. Cornford 15–0–134–35–8.93; D. J. H. Fitches 19–0–144–40–7.57.

Bowling—T. I. Moore 109.3–24–328–21–15.61; R. A. D. Laughton 187–48–547–30–18.23; R. N. Wilson 107.1–25–325–17–19.11; C. J. R. Eccles 87.2–18–272–12–22.66; *McAlpine J. J. 246.4-61–720–28–25.71; S. A. Hoole 133.2–31–452–13–34.76.

KING'S SCHOOL, ROCHESTER

Played 16: Won 4, Lost 2, Drawn 10. Abandoned 3

Master i/c: John S. Irvine

Batting—R. D. Barrett 16–3–592–105*–45.53; R. P. Mernagh 12–5–174–92*–24.85; T. W. Collard 13–3–247–59*–24.70; *A. G. Watson 13–5–195–42–23.87; A. S. Brown 11–0-217–60–19.72.

Bowling—M. Fairbank 101–19–261–20–13.05; R. P. Mernagh 153–32–473–34–13.91; N. Q. Miller 190.1–37–527–35–15.05; M. E. Rowe 87–16–293–12–24.41.

KING'S SCHOOL, WORCESTER

Played 16: Won 1, Lost 3, Drawn 12. Abandoned 1

Master i/c: D. P. Iddon

Batting—D. P. E. Rogers 15–3–493–80*–41.08; D. G. Vivian 13–2–264–52*–24.00; R. D. Jones 16–1–340–73–22.66; S. D. Preston 11–1–198–109*–19.80; P. A. G. Day 12–2116–38*–16.57; D. A. G. Bishop 12–1–156–40–14.18; *J. S. Fleming 12-21-33-33*–13.30.

927

Bowling—A. Suckling 24-3-71-10-7.10; K. D. Andrews 162.4-38-520-30-17.33; J. S. Fleming 181.4-45-477-20-23.85; N. Fisher 117.5-30-361-15-24.06; J. Hodgson 95.2-22-296-12-24.66.

KINGSTON GRAMMAR SCHOOL

Played 19: Won 5, Lost 6, Drawn 8. Abandoned 1

Master i/c: R. J. Sturgeon

Batting—S. H. Clayson 18-1-602-113*-35.41; D. E. Jenkins 19-3-516-103*-32.25; G. R. Foreman 18-5-374-69-28.76; A. S. K. Ghauri 19-1-361-66-20.05; *S. J. Nicholk 14-7-109-18*-15.57; R. J. Gornall 17-0-224-45-13.17; J. P. Molloy 13-0-171-27-13.15; R. A. Ukiah 18-1-155-22-9.11.

Bowling-R. C. Marshall 236-60-665-44-15.11; S. J. Nicholls 239.1-60-686-34-20.17; M. R. Bradford 204.3-44-629-27-23.29.

KINGSWOOD SCHOOL

Played 14: Won 1, Lost 5, Drawn 8

Master i/c: R. J. Lewis

Batting-R. W. Ward 14-0-311-40-22.21; C. J. Huxtable 13-0-267-62-20.53; *P. A. Hurt 14-2-195-44-16.25; J. W. Rogers 14-1-167-50*-12.84; A. C. Hymer 13-0-161-48-12.38; J. F. Ducker 14-0-172-57-12.28; A. W. McLennan 10-0-106-32-10.60.

Bowling-R. H. Vowles 70.5-20-186-18-10.33; R. W. Ward 105.5-20-328-23-14.26; T.S. Hammond 136.2-30-357-25-14.28; A. C. Hymer 184.2-47-400-27-14.81.

LANCING COLLEGE

Played 19: Won 12, Lost 4, Drawn 3

Master i/c: E. A. Evans-Jones

Cricket professional: D. V. Smith

Batting-J. D. Robinson 19-2-700-90*-41.17; J. G. Wills 18-0-431-95-23.94; *I. C. Martin 19-1-356-69-19.77; J. J. S. Withyman 16-0-298-61-18.62; C. P. Heaslip 19-0-294-46-15.47; C. S. Mays 16-5-163-42*-14.81; P. G. Sealey 18-2-229-50-14.31; J. N. P. Davies 15-5-131-30*-13.10.

Bowling-C. S. Mays 244-66-573-58-9.87; A. N. McPherson 214.5-57-508-41-12.39; P. G. Sealey 126.1-26-340-20-17.00; J. Baker 103-18-301-13-23.15; J. N. P. Davies 89.3-16-273-11-24.81.

LEEDS GRAMMAR SCHOOL

Played 19: Won 10, Lost 4, Drawn 5. Abandoned 3

Master i/c: I. R. Briars

Batting-A. F. Tyler 17-3-668-117*-47.71; J. K. Bowman 19-2-673-85-39.58; *D. H. Innes 16-3-377-88-29.00; D. C. Barker 13-5-183-59-22.87; S. A. Gray 15-4-217-58-19.72; J. D. E. Weston 14-1-196-44-15.07; J. E. Cook 15-1-165-54-11.78.

Bowling-D. A. Smith 127.3-27-423-30-14.10; A. M. Watson 143.3-46-381-25-15.24; S. A. Gray 46-4-233-13-17.92; N. J. Pridmore 144-25-510-26-19.61; D. C. Barket 130.4-30-462-23-20.08; R. S. J. Tovey 132.5-22-413-16-25.81.

LEIGHTON PARK SCHOOL

Played 14: Won 3, Lost 5, Drawn 6

Master i/c: G. C. Shaw

Batting-*N. A. S. Unsworth 12-2-311-92-31.10; P. D. R. Berridge 14-1-383-75*-29.46; D Doraisamy 10-1-146-52-16.22; R. J. Dworzak 13-2-170-45-15.45; C. A. J. Allan 11-0-103-32-9.36.

Rowling—S. I. Mahendra 78–14–263–18–14.61; D. Doraisamy 116.4–26–358–23–15.56; R. Newell Price 77.3-6-269-12-22.41; R. J. Dworzak 122.5-22-406-18-22.55

THE LEYS SCHOOL

Played 19: Won 5, Lost 7, Drawn 7. Abandoned 1

Master i/c: P. R. Chamberlain

Ratting-*G. C. Mackintosh 19-2-631-106*-37.11; J. D. R. Benson 18-3-464-110*-30.93; I.G. Mitchell 14-2-344-63-28.66; J. H. E. Griffith 18-1-437-86*-25.70; T. H. P. Kerkham 174-313-70-24.07; G. R. Webb 17-2-220-57*-14.66; M. P. Fernandez 12-0-105-28-8.75.

Bowling-T. G. Gray 73-19-323-18-17.94; M. Gardner 160-26-550-30-18.33; J. D. R. Benson 150-33-395-20-19.75; M. P. Fernandez 118-27-380-16-23.75; G. C. Mackintosh 144-18-504-20-25.20.

LIVERPOOL COLLEGE

Played 18: Won 8, Lost 3, Drawn 7

Master i/c: J. R. H. Robertson

Cricket professional: W. Clutterbuck

Batting-D. M. Fletcher 16-0-623-115-38.93; *N. K. Pyne 16-3-393-89*-30.23; T. F. Groom 16-5-297-65*-27.00; P. D. Williams 19-3-423-66*-26.43; I. M. Lawless 1-1-122-53-20.33; M. Llewellyn 11-4-114-32-16.28; R. Llewellyn 13-1-115-32-9.58.

Bowling-P. D. Williams 187.5-43-484-45-10.75; T. F. Groom 191-43-607-39-15.56; A. P. Hanson 122.5-35-314-19-16.52; R. B. Green 82.2-8-354-20-17.70; M. Llewellyn 81.3-19-242-11-22.00.

LLANDOVERY COLLEGE

Played 11: Won 2, Lost 5, Drawn 4. Abandoned 2

Master i/c: Tom Marks

Batting-N. Whiskerd 10-1-250-66*-27.77; *D. A. Williams 10-0-133-35-13.30; S. Meredith 11-0-141-34-12.81.

Bowling-G. E. Owen 196-62-359-41-8.75; T. B. Williams 137-39-354-24-14.75; J. Moseley 72-14-195-13-15.00.

LORD WANDSWORTH COLLEGE

Played 12: Won 4, Lost 2, Drawn 6

Master i/c: S. R. Davidson

Batting-T. R. Jermyn 12-4-492-116*-61.50; *S. D. Bentley 12-3-369-104*-41.00; N. C. Wright 6-1-150-53-30.00; A. M. Blows 11-4-131-34*-18.71; C. G. Marston 8-0-145-45-18.12.

929

Bowling—S. E. Meadows-Smith 76.1–19–206–14–14.71; M. J. Pritchard 101–20–298–20–14.90; T. R. Jermyn 124.1–29–442–29–15.24; S. G. Saunders

LORD WILLIAMS'S SCHOOL, THAME

Played 13: Won 4, Lost 6, Drawn 3

Masters i/c: G. M. D. Howat and A. M. Brannan

Batting—S. J. Lewis 11–3–237–58–29.62; A. J. Deans 11–0–218–72–19.81; *S. V. Cox 12–1–186–62–16.90; C. M. Payne 11–2–129–44*–14.33.

Bowling—J. P. H. Pawsey 68–15–160–12–13.33; S. Porter 62–7–172–10–17.20; S. J. Lewis 116–14–388–21–18.47.

LORETTO SCHOOL

Played 11: Won 1, Lost 6, Drawn 4. Abandoned 1

Master i/c: R. G. Selley

Cricket professional: A. D. Gaekwad

Batting—*D. J. M. Orr 9–1–336–105*–42.00; J. I. Mahler 8–3–134–58*–26.80; A. G. D. Aitchison 8–2–136–33–22.66; P. D. Stevenson 10–0–211–39–21.10; R. G. S. Prenter 9–0–138–34–15.33.

Bowling—J. I. Mahler 103–22–282–14–20.14; D. J. M. Orr 111–22–377–16–23.56; A. G. D. Aitchison 123–18–407–12–33.91.

MAGDALEN COLLEGE SCHOOL

Played 17: Won 5, Lost 3, Drawn 9

Master i/c: E. P. L. Sandbach

Batting—M. Barrow 18–2–790–103–49.37; *S. Mendes 18–3–601–114*–40.06; M. Mackinlay 6–2–132–35*–33.00; J. Atkins 7–2–151–68*–30.20; S. Kilgour 13–2–261–59-23.72; R. Buchanan 14–2–196–37–16.33; P. Witts 13–1–184–39–15.33.

Bowling—M. Barrow 174–51–607–42–14.45; S. Mendes 171–50–699–46–15.19; S. Hazell 152–49–450–20–22.50.

MALVERN COLLEGE

Played 18: Won 4, Lost 1, Drawn 13. Abandoned 1

Master i/c: A. J. Murtagh

Cricket professional: G. D. Morton

Batting—N. R. C. Maclaurin 4–0–158–58–39.50; R. C. W. Mason 16–0–579–93-36.18; R. A. F. Bache 13–3–292–91*–29.20; A. H. Lewis 15–5–250–78*–25.00; *S. R. Shenkman 14–3–255–53*–23.18; S. J. Creffield 14–2–224–51–18.66; M. C. J. Smith 15–1–252–60–18.00; R. M. Ellcock 13–2–196–62–17.81.

Bowling—R. M. Ellcock 283–83–754–57–13.22; R. C. W. Mason 205–60–581–27–21.51; P. S. R. Wootton 108–20–396–16–24.75; M. T. Lock 127–30–377–10–37.70.

MANCHESTER GRAMMAR SCHOOL

Played 21: Won 5, Lost 5, Drawn 11. Abandoned 1

Master i/c: D. Moss

Batting—M. A. Atherton 16–1–535–96–35.66; C. D. James 15–3–379–53*–31.58; E. M. C. Alexander 9–3–179–58–29.83; R. E. Johnston 20–1–493–144–25.94; C. M. Rogers 15–1–356–61–25.42; *S. C. Williams 13–7–123–36–20.50; M. J. C. Barnes 204–299–70–18.68; P. J. Oldham 12–3–125–53–13.88.

Bowling—S. C. Williams 162–35–459–31–14.80; S. A. Corbett 79.5–17–259–17–15.23; M. A. P. Jefferson 278.2–64–848–37–22.91; D. A. Newton 108–28–333–10–33.30; M. A. Alberton 182–52–528–15–35.20.

MARLBOROUGH COLLEGE

Played 13: Won 1, Lost 2, Drawn 10

Master i/c: P. J. Lough

Batting—R. J. P. Young 16–2–427–95*–30.50; *C. S. L. Olver 16–1–388–77–25.86; J. T. Burrell 17–0–439–64–25.82; A. J. Makin 14–5–209–66–23.22; R. T. Thicknesse 14-2-264–51–22.00; M. J. K. Hickman 10–1–142–35–15.77.

Bowling—R. Stafford 67–11–200–12–16.66; A. F. D. Coplestone 201–56–507–25–20.28; A. J. Makin 184-44–514–23–22.34; R. T. Thicknesse 118–21–405–15–27.00.

MERCHANT TAYLORS' SCHOOL, CROSBY

Played 20: Won 0, Lost 14, Drawn 6. Abandoned 1

Master i/c: Rev. D. A. Smith

Batting—M. J. Cooke 12–1–214–54–19.45; D. H. Cooke 20–1–281–40–14.78; L. N. J. Heathcliff-Core 20–1–247–41–13.00; R. A. Saundry 17–3–180–47–12.85; D. R. Drury 17–0–19.40–11.47; M. J. Clinton 15–1–160–42–11.42; I. M. Kerr 20–1–192–36–10.10; *G. Clarke 19–0–138–17–7.26.

Bowling—D. J. Walmsley 200.2–44–654–36–18.16; M. J. Clinton 108.4–23–319–16–19.93; D.H. Cooke 128.1–39–349–15–23.26; L. N. J. Heathcliff-Core 203.3–39–636–24–26.50; A. T. Williams 163.5–42–457–17–26.88.

MERCHANT TAYLORS' SCHOOL, NORTHWOOD

Played 14: Won 11, Lost 0, Drawn 3. Abandoned 4

Master i/c: R. B. Hawkey

Buting—S. P. Ducat 15–5–662–79–66.20; A. A. G. Mee 12–4–309–63–38.62; D. J. Jenkins 15-2-454-68*–34.92; J. H. Armstrong 9–1–192–70*–24.00.

Booling—P. Jack 113.1–37–275–23–11.95; A. Cornish 84.2–27–212–15–14.13; J. H. Amstrong 99.4–29–265–18–14.72; A. Roberts 175–49–443–29–15.27; J. W. Walter 103-34-324–21–15.42.

MERCHISTON CASTLE SCHOOL

Played 13: Won 3, Lost 5, Drawn 5. Abandoned 2

Master i/c: M. C. L. Gill

Cricket professional: R. Ratcliffe

Batting—*P. K. Young 15–1–398–81–28.42; D. A. G. Watson 15–2–301–83–23.15; D. C. Kennedy 10–3–160–55–22.85; A. P. Cunningham 14–0–317–61–22.64; J. E. Hamilton 15–1–294–74–21.00; G. Maxwell 11–3–153–38–19.12; N. S. Hockborn 10–3–127–57–18.14; L. D. Rose 10–1–100–29–11.11.

Bowling—I. D. Rose 34.4–5–127–11–11.54; C. E. Dishington 125–20–383–24–15.95; D. A. G. Watson 144.3–28–501–21–23.85; N. S. Hockborn 109–17–410–15–27.33; G. Maxwell 127–29–347–10–34.70.

MILL HILL SCHOOL

Played 19: Won 3, Lost 5, Drawn 11

Master i/c: C. Dean

Batting—P. A. Robin 17–3–992–164*–70.85; *S. C. M. Harley 19–3–537–85–33.56; G. R. W. Hawley 14–5–208–63*–23.11; I. A. Adebayo 12–1–209–57–19.00; R. S. W. Roberts 13–3–154–36–15.40; R. V. Ram 12–1–155–37–14.09.

Bowling—L. N. E. Smith 30.5–7–103–10–10.30; N. Gerasimidis 43–8–122–10–12.20; G. R. W. Hawley 106.2–35–238–12–19.83; C. E. F. Kent 56–6–203–10–20.30; P. A. Robin 253.1–62–664–26–25.53; R. S. W. Roberts 200.1–50–549–18–30.50.

MILLFIELD SCHOOL

Played 21: Won 7, Lost 3, Drawn 11. Abandoned 1

Master i/c: F. N. Fenner

Cricket professional: G. Wilson

Batting—N. E. R. Hutchinson 7–1–228–50*–38.00; J. E. M. Nicolson 18–1–596–109*–35.05; P. A. C. Bail 19–2–560–71*–32.94; R. M. Cooper 19–2–399–93–23.47; D. Pyemont 14–7–164–28*–23.42; J. R. Ravenscroft 13–1–264–63–22.00; R. A. Hawes 11–1–102–34–10.20.

Bowling—N. Brown 206.2–61–377–28–13.46; J. R. Ravenscroft 132.4–23–523–29-18.03; P. A. C. Bail 243.1–62–788–30–26.26; S. E. Hull 178–48–462–17–27.17; A. M. Hassall 183.2–24–616–19–32.42.

MILTON ABBEY SCHOOL

Played 20: Won 7, Lost 8, Drawn 5. Abandoned 2

Master i/c: S. T. Smail

Batting—C. G. Bevan 11–1–250–64*–25.00; J. M. Hopkins 18–0–411–72-22.83; N. J. Coppen 20–0–337–53–16.85; J. W. Lovell 12–2–165–50*–16.50; *C. W. Moyle 18–0–268–45–14.88.

Bowling—G. C. Birkbeck 80–13–264–22–12.00; C. W. Moyle 198–34–694–49–14.16; R. W. Gamble 200–59–486–30–16.20; D. A. Meredith 82–15–279–16–17.43; R. D. Barrington 102–18–306–18–17.00.

MONKTON COMBE SCHOOL

Played 16: Won 3, Lost 3, Drawn 10, Abandoned 1

Master i/c: P. C. Sibley

Cricket professional: P. D. Marsden

Batting—S. A. M. Prentice 15–2–349–73*–26.84; I. G. Osborne 15–1–312–64–22.28; A. R. C. Batterham 11–5–124–46*–20.66; A. P. S. McDougal 12–4–138–50*–17.25; A. P. Fussell 13-1-190–65–15.83; A. G. Lea 11–1–149–26*–14.90; R. H. Miller 10–2–113–36–14.12; J. J. A Beales 13–1–164–43*–13.66; *J. B. East 15–1–119–25–8.50.

Bowling—J. J. A. Beales 85.4–32–209–21–9.95; J. B. East 49.2–6–180–14–12.85; A. R. C. Batterham 201.1–42–494–38–13.00; S. A. M. Prentice 80–27–194–13–14.92; A. M. Owen 36,7-275–12–18,75; I. G. Osborne 153–43–427–19–22.47.

MONMOUTH SCHOOL

Played 16: Won 2, Lost 6, Drawn 8

Masters i/c: P. D. R. Anthony and P. Dennis-Jones Cricket professional: G. I. Burgess

Buting—*K. G. Lewis 13–1–362–119*–30.16; R. S. Kear 13–1–327–80*–27.25; A. G. Nicholas 12–2–248–84–24.80; A. C. Olney 12–0–227–60–18.91; M. F. Kear 13–2-194-35–17.63; D. W. Joseph 13–3–172–30–17.20.

Bowling—M. F. Kear 178.1—41–542–25–21.68; A. G. Douglass 138–39–335–14–23.92; D. W. Joseph 117–32–386–16–24.12; G. A. Davies 180.2–43–580–21–27.61.

NORWICH SCHOOL

Played 16: Won 3, Lost 7, Drawn 6

Master i/c: P. J. Henderson

Buting—D. R. Glasbey 4–1–231–75–77.00; *S. P. Bowling 14–1–447–69–34.38; N. J. Kedar II-5-I45-33*–24.16; N. J. Foster 8–1–167–56–23.85; P. D. Nicholls 16–0–368–64–23.00; A. LClarke 14–0–178–60–12.71; S. Windsor 15–0–184–36–12.26; S. Cook 15–5–116–13*–11.60; J. A. Cooper 14–2–120–20–10.00.

Bowling—N. J. Kedar 119.5–26–445–28–15.89; P. D. Nicholls 169–37–544–29–18.75; N. J. Foster 95.3–15–382–18–21.22; G. P. Sargent 132–25–457–18–25.38.

NOTTINGHAM HIGH SCHOOL

Played 26: Won 16, Lost 2, Drawn 8. Abandoned 3

Master i/c: J. E. Sadler

Cricket professional: K. J. Poole

Batting—R. P. Rhodes 12–8–241–46*–60.25; *R. Poole 27–5–895–113–40.68; R. C. Elgie 2+6-491-83*–27.27; J. G. Morris 24–2–456–70–20.72; R. J. Briggs 17–2–272–65*–18.13; G. D. Harding 16–3–216–46*–16.61; R. M. Mousley 22–3–303–42–15.94; R. J. Sadler 34-3-23-65–13.70.

Bowling—G. D. Harding 281–85–511–47–10.87; R. P. Rhodes 296–91–746–52–14.34; R. J. Briggs 270–81–601–36–16.69; T. J. Deas 92–22–276–16–17.25; R. M. Mousley 132-34-364–16-22.75; N. A. M. Garden 192–58–504–21–24.00; T. D. Jackman 172-43-503–20–25 15

OAKHAM SCHOOL

Played 20: Won 3, Lost 2, Drawn 15

Master i/c: J. Wills

Cricket professional: I. H. S. Balfour

Batting—A. C. Douglass 16–3–651–95–50.07; *E. G. Sly 20–6–425–56*–30.35; M. Steans 19–2–504–114*–29.64; C. A. Selby 15–9–121–33*–20.16; S. P. Stephenson 14–4–176–27–17.60; T. P. Jones 16–0–263–52–16.43; S. Wood 15–0–214–54–14.26; S. R. Ratcliffe 14–0–177–31–12.64.

Bowling—D. A. Lewis 124.2–26–372–23–16.17; E. G. Sly 242.2–88–544–33–16.48; J. M. Wratten 87–18–241–12–20.08; S. P. Stephenson 150–31–430–18–23.88; J. S. England 106–25–321–10–32.10.

OUNDLE SCHOOL

Played 17: Won 4, Lost 6, Drawn 7. Abandoned 1

Master i/c: M. J. Goatly

Cricket professional: A. J. Watkins

Batting—D. C. Boyce 15–1–577–141*–41.21; A. S. A. Townsend 16–2–537–107–38.35; E. J. Pickard 15–2–338–68*–26.00; W. M. O. Massey 15–1–248–71–17.71; J. A. MacMillan 13–3–174–62*–17.40; R. C. Merrikin 15–1–202–58–14.42.

Bowling—J. S. Carr 222.2–46–873–35–24.94; J. A. MacMillan 166.4–41–513–19–27.00; J.R. Waters 107.2–22–370–12–30.83; M. J. D. Walliker 205–50–612–14–43.71.

THE PERSE SCHOOL

Played 15: Won 2, Lost 2, Drawn 11

Master i/c: A. W. Billinghurst

Batting—A. R. Young 9–3–249–66*–41.50; J. M. C. Stenner 13–2–366–67–33.27; J. D. Steele 13–1–297–62–24.75; *A. R. Wass 14–0–313–94–22.35; P. W. Sterland 12–2–217–50–21.70.

Bowling—A. R. Young 116–38–262–25–10.48; G. D. A. Clayson 131–35–403–20-20.15; C. A. Riley 114.3–39–277–11–25.18; A. R. Wass 97–24–322–11–29.27; R. Hanka 161.1–42–427–13–32.84.

PLYMOUTH COLLEGE

Played 17: Won 5, Lost 5, Drawn 7. Abandoned 5

Master i/c: T. J. Stevens

Batting—*M. Tall 16–2–421–100*–30.07; J. Chislett 16–1–428–70–28.53; S. Luffman 15–0–409–64–27.26; N. Trobridge 15–6–218–38–24.22; R. Seymour 15–2–256–60–19.69; C. Stevens 16–3–199–37*–15.30.

Bowling—M. Sprague 103.4–24–378–26–14.53; G. Hooper 65–19–202–12–16.83; C. Rose 148.4–24–580–30–19.33; A. Luffman 124.3–21–402–20–20.10.

POCKLINGTON SCHOOL

Played 25: Won 11, Lost 8, Drawn 6

Master i/c: D. Nuttall

Batting—J. D. St J. Lang 24–2–692–100*–31.45; R. T. Nuttall 23–0–566–75–24.60; S. J. Hall 20–1403–99–21.21; R. M. Picknett 23–2–395–53*–18.80; *M. N. Townend 24-3-375–77*–17.85; C. J. Lewis 20–4–251–39–15.68; D. Ellinor 19–5–179–25–12.78,

Bowling—R. M. Aram 349.3–96–955–69–13.84; P. J. Buckley 242–80–564–40–14.10; S. D. R. Beynon 113.4–20–367–21–17.47; S. J. Hall 257–66–685–34–20.14.

QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 15: Won 8, Lost 6, Drawn 1

Master i/c: C. W. M. Furniss

Cricket professional: H. Hariharan

Batting—*J. S. Young 15–5–459–100*–45.90; R. Adams 7–3–114–50*–28.50; A. K. Das 14-2-203–37*–16.91; A. M. Taylor 15–1–233–74–16.64; S. Jubb 12–2–125–25–12.50.

Bowling—J. Tunnicliffe 82–22–186–21–8.85; A. M. Smith 32–6–103–11–9.36; R. Hattersley 43-65-576-33–17.45; P. Hesseltine 173–31–570–26–21,92.

QUEEN'S COLLEGE, TAUNTON

Played 12: Won 5, Lost 1, Drawn 6. Abandoned 1

Master i/c: J. W. Davies

Butting—G. V. Palmer 9–2–362–116–51.71; P. Graham 11–1–382–130–38.20; A. Free II-I-195-72–19.50; M. Swift 11–0–201–44–18.27; *A. Bloxham 12–1–184–50–16.72; R. Irish II-2–106–31–11.77.

Bowling—G. V. Palmer 161–49–325–33–9.84; P. Graham 135–38–327–25–13.08; M. Swift 149-35-407–28–14.53.

RADLEY COLLEGE

Played 17: Won 4, Lost 1, Drawn 12. Abandoned 1

Master i/c: C. H. Hirst

Cricket professional: A. G. Robinson

Butting—E. J. B. Popplewell 16–3–446–68–34.30; R. G. Butler 15–1–467–111–33.35; J. A. G. Fawcett 16–1–368–60*–24.53; J. R. L. Ballantyne 13–5–183–57*–22.87; R. C. H. Reed 16–1340–53*–22.66; J. S. Male 12–2–214–65*–21.40; C. C. H. Phillips 164-250–66*–20.83; J. H. Nash 8–1–113–37–16.14.

Booking—*G. D. Moss 242.3–67–608–40–15.20; S. N. A. Leefe 60–10–204–13–15.69; J. S. Male 58–12–213–12–17.75; L. S. N. George 195.3–45–486–27–18.00; J. A. G. Fawcett 19.3–39–434–23–18.86; J. H. Nash 98–18–330–11–30.00.

RATCLIFFE COLLEGE

Played 17: Won 3, Lost 4, Drawn 10. Abandoned 2

Master i/c: C. W. Swan

Batting—*J. A. Foulds 12–2–250–85*–25.00; D. H. Mestecky 14–4–249–63*–24.90; D. M. Prior 17–2–367–101–24.46; G. J. O'Connor 16–4–212–37–17.66.

Bowling—D. H. Mestecky 99–25–308–21–14.66; P. W. Tarimo 209–55–499–34-14.67; D. M. Prior 109–16–331–15–22.06.

READING SCHOOL

Played 14: Won 1, Lost 6, Drawn 7. Abandoned 1

Master i/c: R. G. Owen

Cricket professional: A. Dindar

Batting—*E. P. O'Leary 10–2–308–87*–38.50; K. W. Seymour 14–1–306–70–23.53; D. G. Purslow 14–1–283–58–21.76; E. L. Weekes 14–5–182–47–20.22; A. C. Dray 13–0–240–71–18.46; D. B. K. Williams 14–0–234–35–16.71; M. W. Allen 8–1–104–56–14.85; R. I. West 13–1–107–28*–8.91.

Bowling—*E. P. O'Leary 80–22–234–14–16.71; E. L. Weekes 141–30–468–17–27.52; G. M. Cox 166–42–521–18–28.94; R. I. West 85–17–333–10–33.30.

REED'S SCHOOL

Played 14: Won 5, Lost 4, Drawn 5. Abandoned 1

Master i/c: G. R. Martin

Batting—G. A. Hatton 12–1–460–77–41.81; A. P. Shiells 14–1–282–53–21.69; *M. R. Dunn 13–3–205–39–20.50; A. M. J. Glass 13–2–224–58–20.36; L. N. Onyesoh 12–2–202–51–20.20; J. M. A. Price 11–2–150–26*–16.66.

Bowling—M. R. Dunn 200.1–58–475–39–12.17; C. R. Notton 136.4–22–451–35–12.88; R.P. A. Maddock 119–25–372–15–24.80.

REIGATE GRAMMAR SCHOOL

Played 23: Won 7, Lost 2, Drawn 14. Abandoned 3

Master i/c: D. C. R. Jones

Batting—P. W. Gritton 14–5–316–59–35.11; *P. N. J. Downman 21–2–622–65–32.73; D. G. C. Downman 18–4–404–65*–28.85: D. McG. Gilbertson 7–2–119–57–23.80; C. M. Allen 20–4–377–72–23.56; D. R. Cawthrow 21–2–418–61–22.00; J. M. G. Baird 21–0–455–57–21.66; S. A. Bedell 21–1–298–67–14.90.

Bowling—A. C Bradley 111–19–383–23–16.65; M. Peckham 76–17–184-10-18.40; C. M. Allen 249–48–730–38–19.21; P. W. Gritton 253.3–48–841–41–20.51; I. M. Brimicombe 105.1–16–420–13–32.30.

REPTON SCHOOL

Played 18: Won 3, Lost 5, Drawn 10. Abandoned 1

Master i/c: J. F. M. Walker

Cricket professional: M. Kettle

Bating—C. Benn 17–3–649–120–46.35; C. V. Berriman 18–3–462–108*–30.80; S. W. Lovell |8-1-460-119-27.05; J. C. Gibbow 8–2–138–38–23.00; S. C. Robinson 16–0–312–56–19.50; A. S. J. Pass 10–2–133–33–16.62; M. S. H. Smith 13–4–137–43–15.22; *T. R. Barlow |1-2-127-33-14.11.

Bowling—G. P. J. Emmerson 156–19–635–24–26.45; M. S. H. Smith 34,145-947-32-29.59; N. F. Slater 241.1–33–951–29–32.79.

ROSSALL SCHOOL

Played 14: Won 7, Lost 4, Drawn 3

Master i/c: R. J. Clapp

Batting—*R. I. Kanhai 14–5–360–81*–40.00; S. L. Corlett 9–4–186–50*–37.20; F. D. Merry II-I-22I-37-22.10; A. B. Efiong 15–1–243–72–17.35; N. V. Salvi 14–2–170–26–14.16; L. M. Clube 14–1–146–48–11.23.

Bowling—R. I. Kanhai 173—48—428—35—12.22; C. J. D. Lees 61—20—165—10—16.50; K. C. Sills: 197-50—513—29—17.68; H. B. Mellor 123—42—230—13—17.69.

ROYAL GRAMMAR SCHOOL, NEWCASTLE

Played 22: Won 6, Lost 5, Drawn 11

Master i/c: D. W. Smith

Cricket professional: J. N. Graham

Batting—S. D. Pyle 21–4-436–61–25.64; A. S. Latimer 10–1–186–41–20.66; M. A. Reed 21-0-422-83–20.09; R. H. J. Milbank 16–4–237–41*–19.75; A. V. F. Nargol 13-2-202-50–18.36; J. A. Bruce 21–1–353–40–17.65; I. D. Lumley 19–1–284–84*–15.77; L. D. Anderson 20–0–234–32–11.70; S. J. Sill 19–4–169–37*–11.26.

Bowling—S. D. Pyle 22–6–83–10–8.30; S. J. Sill 102–14–377–23–16.39; A. V. F. Nargol 18-27-409–24–17.04; *J. N. J. Anderson 64–13–238–13–18.30; J. A. Bruce 1852-41-436-19–22.94; A. P. Manley 95.2–18–291–12–24.25.

ROYAL GRAMMAR SCHOOL, WORCESTER

Played 20: Won 11, Lost 4, Drawn 5. Abandoned 2

Master i/c: B. M. Rees

Buting—P. Bent 19–2–643–115*–37.82; S. D. Cairney 19–0–644–112–33.89; M. C. W. Jones 17-1–354–59–22.12; D. C. Richmond 17–6–243–55–22.09; J. S. Phillips 19-2-308–55*–18.11; G. A. Powell 14–1–228–46–17.53; *S. P. Madzarevic 12-2-115-28–11.50.

Bowling—D. C. Richmond 86.1–19–236–15–15.73; I. G. Jinks 206–55–563–28–20.10; A. C. Matzarevic 162.3–51–396–18–22.00; P. Bent 263.4–70–695–29–23.96; A. R. Hill 138-33-360–15–24.00; J. S. Phillips 102.5–18–293–12–24.41.

Bowling-A. P. Walton 87-14-309-20-15.45; *J. C. Mankey 183-46-528-30-17.60; S. A.

RUGBY SCHOOL

Played 16: Won 1, Lost 2, Drawn 13

Master i/c: G. A. Tiffin

Cricket professional: W. J. Stewart

Batting—P. J. Leaver 16–3–396–103*–30.46; *F. G. A. Mitchell 16–4–356–59–29.66; A.J. Stewart 9–3–166–58–27.66; D. P. W. Umbers 17–1–363–53–22.68; I. A. Hunter 17–1–314–50–19.62; J. G. A. Squire 13–2–209–37–19.00; D. J. Cleverley 10–3–106–60*–15.14.

Bowling—N. C. W. Fenton 228.3–55–514–32–16.06; *F. G. A. Mitchell 185–51–440–27–16.29; J. D. D. Allan 77–15–203–11–18.45; D. J. Cleverley 91.3–25–241–11–21.90.

RYDAL SCHOOL

Played 15: Won 1, Lost 7, Drawn 7

Master i/c: M. J. Darlington

Cricket professional: R. W. C. Pitman

Batting—N. S. Lawrence 9–2–172–44–24.57; N. B. Morgan 11–0–237–85–21.54; *D. P. Johnson 12–0–232–74–19.33; J. T. Owen 13–0–227–63–17.46; N. J. Dale 12–0–177–58–14.75; J. M. Tunstall 13–0–121–35–9.30.

Bowling—D. P. Johnson 44-6-164-11-14.90; T. P. Forster 94-34-231-15-15.40; J. M. Sherrington 100-24-357-18-19.83; N. B. Morgan 108-24-341-15-22.73; A. P. Sherrington 115-17-416-15-27.73.

ST ALBANS SCHOOL

Played 15: Won 6, Lost 5, Drawn 4. Abandoned 4

Master i/c: N. J. Pritchard

Batting—H. S. F. Thompson 13–7–152–29–25.33; W. J. Dean 13–0–320–51–24.61; *A. P. Latham 15–1–314–55–22.42; M. D. Lynes 11–1–210–66–21.00; S. R. Dobson 13–0–137–40–10.53; A. I. Bird 13–1–112–17*–9.33; N. J. Roper 13–0–107–32–8.23.

Bowling—W. J. Dean 269-74-629-50-12.58; A. P. Latham 201-52-504-25-20.16.

ST DUNSTAN'S COLLEGE

Played 13: Won 4, Lost 2, Drawn 7. Abandoned 3

Master i/c: C. Matten

Batting—C. Denny 13–2–449–84–40.81; P. Slade 11–3–224–37*–28.00; C. Tooley 15–2–305–65*–23.46; S. Cross 11–3–166–41*–20.75; P. White 11–0–196–58–17.81; I. Jack 12–3–144–35*–16.00; A. Rouse 12–1–140–34–12.72; *M. Jeffcoat 12–0–124–29–10.33.

Bowling—S. Cross 107–27–343–25–13.72; G. Pointer 174–48–414–20–20.70; W. Beavington 65–15–216–10–21.60; H. Phillips 229–48–705–28–25.17.

ST EDMUND'S SCHOOL, CANTERBURY

Played 15: Won 3, Lost 5, Drawn 7. Abandoned 3

Master i/c: R. Woodberry

Cricket professional: D. V. P. Wright

Batting—R. A. L. Fields 13–1–350–74*–29.16; J. M. Carr 13–0–330–70–25.38; S. D. Beckett 15–4–251–57*–22.81; P. Samakatunga 15–1–295–50–21.07; A. P. Walton 11–1–185–49–18.50.

A. Roche 137–31–455–17–26.76.

ST EDWARD'S SCHOOL, OXFORD

Played 11: Won 3, Lost 2, Drawn 6. Abandoned 2

Master i/c: P. G. Badger

Cricket professional: B. A. Edrich

Batting—T. de Putron 7-0-263-62-37.57; D. Soper 12-0-360-64-30.00; D. Arkell 12-1-224-58-20.36; S. Smith 12-1-217-57-19.72; A. Lamb 12-0-213-77-17.75; A. Cane 10-2-121-29-15.12; P. Bishop 10-2-115-29-14.37; P. Blanchard 12-2-126-49-12.60.

Bowling—T. Rayne 134.5–38–348–23–15.13; R. Franklin 185.2–35–570–31–18.38; D. Soper 35.18-233-11–21.18; R. Mitchell 102.4–28–273–10–27.30.

ST GEORGE'S COLLEGE, WEYBRIDGE

Played 17: Won 5, Lost 6, Drawn 6. Abandoned 2

Master i/c: B. O'Gorman

Batting—T. J. O'Gorman 15–6–420–100*–46.66; D. A. Hamer 8–1–216–55*–30.85; M. J. Johnson 10–3–204–69–29.14; J. M. Jones 16–0–359–68–22.43; M. J. Collins 17-2-312–50*–20.80; M. J. Inman 12–1–218–60–19.81; A. P. Jansen 15–3–222–56*–18.50; S. E. Jones 17–0–283–43–16.64; R. P. McBride 13–2–112–32–10.18.

Bowling—A. P. Jansen 57.4–13–165–11–15.00; P. Davis 195–68–459–27–17.00; S. E. Jones 177-34–651–38–17.13; M. J. Johnson 117.3–39–328–18–18.22; D. A. Hamer 100.5–26–355–17–20.88.

ST JOHN'S SCHOOL, LEATHERHEAD

Played 12: Won 2, Lost 3, Drawn 7. Abandoned 2

Master i/c: M. E. C. Comer

Cricket professional: E. Shepperd

Buting—*M. T. Sibley 12–3–271–66*–30.11; P. A. Sidwell 10–3–203–61–29.00; P. J. Warren 11–2–199–39–22.11; J. M. Downing 11–0–223–41–20.27; G. C. Blows 12-0-174-42-14.50; D. W. M. Canning 9–0–128–32–14.22.

Bowling—D. B. Millard 94-32-253-16-15.81; C. D. Lane 110-16-326-14-23.28; J. M. Downing 130-43-359-15-23.93; M. T. Sibley 200-59-575-23-25.00.

ST LAWRENCE COLLEGE

Played 15: Won 0, Lost 6, Drawn 9

Master i/c: N. O. S. Jones

Butting—P. R. Hoberaft 16–3–348–72*–26.76; *M. J. Marchant 16–1–309–69–20.60; J. M. G. Barber 10–3–120–44*–17.14; R. H. Mayger 14–1–212–61–16.30; N. A. Crush 154–160–48*–14.54; J. L. Binfield 15–1–142–39–10.14; S. W. Cook 15–0–151–27–10.06.

Bowling—D. R. Joyce 164–41–470–20–23.50; M. J. Marchant 170.1–29–575–21–27.38; P. R. Hoberaft 121.1–26–359–13–27.61; J. M. G. Barber 120.3–21–423–12–35.25.

ST PAUL'S SCHOOL

Played 14: Won 2, Lost 2, Drawn 10. Abandoned 2

Master i/c: G. Hughes

Cricket professional: E. W. Whitfield

Batting—N. H. D. Macklin 11–4–245–62–35.00; R. W. D. Hampton 13–0–404-87-31.07; J. T. K. Evans 13–1–356–69–29.66; *W. B. Boulton 13–1–274–45–22.83; M. G. A. Woodward 10–2–135–32–16.87.

Bowling—P. M. Wright 200–51–571–26–21.96; A. J. Kemp 134.4–30–361–14–25.78; I. W. Ross Russell 148–32–445–14–31.78; J. P. Clayman 112–22–391–11–35.54.

ST PETER'S SCHOOL, YORK

Played 19: Won 8, Lost 2, Drawn 9. Abandoned 1

Master i/c: D. Kirby

Cricket professional: K. Mohan

Batting—S. R. Gorman 20–2–737–120–40.94; *E. F. J. Wright 18–3–373–77*–24.86; M. D. Willink 16–2–341–65*–24.35; A. G. Jackson 20–3–313–55–18.41; S. P. Burdass 17–3–240–47*–17.14.

Bowling—S. R. Gorman 234.3–76–664–58–11.44; G. Y. Taylor 145.3–56–332–24–13.83; R. F. Dibb 110.1–26–319–14–22.78; D. W. Thomas 201.1–72–477–20–23.85; R. J. Kirby 242.4–84–588–23–25.56.

SEDBERGH SCHOOL

Played 14: Won 7, Lost 4, Drawn 3. Abandoned 1

Master i/c: J. O. Morris

Batting—*C. James 12–1–379–64–34.45; M. T. Alban 14–2–331–80*–27.58; W. D. C. Carling 11–3–200–64–25.00; J. C. Foster 13–0–293–51–22.53; S. R. Paton 11–0–229–67–20.81.

Bowling—J. C. R. Binks 149–49–223–22–10.13; M. G. Burgess 172.4–53–359–28–12.82; N. R. Leeming 85–30–255–11–23.18; M. T. Alban 136–21–493–21–23.47; J. P. Cheetham 151–54–416–17–24.47.

SEVENOAKS SCHOOL

Played 11: Won 5, Lost 1, Drawn 5. Abandoned 2

Master i/c: I. J. B. Walker

Batting—*J. G. Perks 11–3–325–64–40.62; N. P. Thomas 11–2–271–65*–30.11; D. B. Thresher 11–0–267–61–24.27; R. C. Withers 9–0–175–37–19.44.

Bowling—R. P. Roberts 133–37–363–37–9.81; A. J. Bell 71.5–26–164–16–10.25; D. B. Thresher 92.4–31–199–18–11.05; J. H. Page 66.5–17–174–11–15.81.

SHERBORNE SCHOOL

Played 14: Won 6, Lost 1, Drawn 7. Abandoned 1

Master i/c: D. F. Gibbs

Cricket professional: C. Stone

Batting—R. W. Lloyd 11–5–321–87*–53.50; M. M. C. F. Jones 14–2–530–94*–44.16; *T. J. Dudgeon 14–3–374–101*–34.00; R. A. Rydon 12–1–251–43–22.81; D. W. Thome 13–1–237–40–19.75; M. C. Bennett 11–3–125–38*–15.62; G. A. Tice 8–0–111–74–13.87.

Bowling—T. J. Billington 167.5–55–468–31–15.09; P. L. Garlick 186.3–52–462–30–15.40; I. P. M. Sharpe 162–44–456–21–21.71.

SHREWSBURY SCHOOL

Played 20: Won 4, Lost 3, Drawn 13. Abandoned 3

Master i/c: C. M. B. Williams

Cricket professional: P. H. Bromley

Batting—J. C. C. Pettegree 11–2–342–92–38.00; M. P. Dickson 9–4–190–61*–38.00; R. S. M. Shepherd 14–4–328–69*–32.80; I. M. Garrard 13–3–304–72*–30.40; R. J. P. Burton 18–3-421–60*–28.06; I. J. F. Hutchinson 18–0–435–81–24.16; A. J. Everall 16–1361–76–24.06; A. D. Hobson 8–2–127–36–21.16; *P. Wozencroft 14–1–274–53–21.07.

 $\frac{Bowling}{85-21-279-15-18.60};$ P. Burton 292.2–92–709–56–12.66; I. J. F. Hutchinson 98.5–21–279–15–18.60; T. G. Sillar 210.1–45–600–31–19.35; S. M. K. Goodman 109-14-402–15–26.80; R. P. Holt 87.4–14–325–12–27.08.

SIMON LANGTON GRAMMAR SCHOOL

Played 24: Won 8, Lost 1, Drawn 15

Master i/c: R. F. Harriott

Batting—*S. C. Goldsmith 22–3–938–121–49.36; S. Newlyn 16–5–327–58*–29.72; M. Judge 154–191–46-17.36; S. Munday 18–1–284–78–16.70; R. James 21–1–323–37–16.15; G. Wiskar 15–1–224–61–16.00; N. Owen 14–5–125–26*–13.88.

Bowling—J. Blair 62.3–19–129–20–6.45; M. Dobson 40.1–6–109–11–9.90; J. Richards 121.4–32–314–27–11.62; S. Goldsmith 165.3–46–388–27–14.37; A. Castle 201.4–58–579–36–16.08; N. Owen 55–8–203–12–16.91; S. Newlyn 103.5–30–268–12–22.33.

SIR ROGER MANWOOD'S SCHOOL

Played 11: Won 3, Lost 3, Drawn 5. Abandoned 1

Master i/c: P. W. Kullman

Butting-G. W. Laslett 7-4-163-62*-54.33; *K. B. G. Boland 11-4-224-65-32.00.

Bowling—K. B. G. Boland 35–6–92–10–9.20; S. D. Baldock 91–24–220–23–9.56; D. J. Slevens 60.3–12–161–16–10.06; M. I. A. Howell 67.5–9–227–20–11.35.

SOLIHULL SCHOOL

Played 17: Won 5, Lost 4, Drawn 8, Abandoned 1

Master i/c: M. R. Brough

Buting—J. M. Robinson 15–1–499–97*–35.64; R. Hamilton 15–1–391–50*–27.92; D. Lloyd
□-1-211-68*–23.44; C. Too Chung 8–2–137–49–22.83; *A. J. McNeish 9–0–188–56–20.88;
□-1-141-45–15.66; A. Morton 13–2–139–38–12.63.

Bowling—M. C. Duck 142–42–324–21–15.42; C. M. Jowsey 149.2–22–578–26–22.23; M. Whitehead 142–29–422–18–23.44; A. Morton 169.4–37–499–19–26.26.

STAMFORD SCHOOL

Played 16: Won 5, Lost 3, Drawn 8

Master i/c: H. K. Bell

Batting—I. D. Stafford 7-4-148-64-49.33; *D. W. Browne 15-1-643-117-45.92; R. P. Alston 14-1-273-13-21.00; M. A. Welch 15-1-292-81*-20.85; J. S. Gibson 11-2-172-38-19.11; M. A. Bryant 12-3-142-42-15.77; C. P. Richardson 12-2-140-29-14.00.

Bowling—I. R. Plant 192.3–63–435–35–12.42; J. N. Ralphs 125.5–33–343–18–19.05; R. P. Alston 78.3–20–234–11–21.27; N. J. Tyers 86–12–285–11–25,90.

STOCKPORT GRAMMAR SCHOOL

Played 15: Won 6, Lost 0, Drawn 9. Abandoned 2

Master i/c: L. P. Kynaston

Batting—P. H. Wickenden 10-4-290-83*-48.33; T. P. R. Reeman 15-3-496-67-41.33; *R. P. Nicholson 14-1-386-66-29.69; C. R. Thompson 13-1-200-66-16.66; T. Ambler 10-1-142-50-15.77; T. Firth 11-0-170-45-15.45; T. J. Chalmers 11-2-110-44-12.22.

Bowling—S. J. Merricks 34.1–15–67–10–6.70; R. A. Samarji 169–61–343–37–9.27; J. G. P. Roughton 140.1–44–404–22–18.36; T. Firth 150.2–47–336–16–21.00.

STOWE SCHOOL

Played 19: Won 4, Lost 5, Drawn 10

Master i/c: L. E. Weston

Cricket professional: C. Oakes

Batting—W. J. Lord 19–1–508–77–28.22; *P. K. E. Steward 17–1–434–90–27.12; J. H. M. Claydon 14–5–226–43*–25.11; J. N. A. Davies 16–5–259–61*–23.54; D. M. W. Thomas 16–1–318–52*–21.20; A. M. Morrison 17–1–322–51*–20.12; D. A. Steward 17–1–269–45–16.81; M. M. Ivison 8–0–103–35–12.87.

Bowling—C. W. F. Farquhar 76.1-20-139-11-12.63; D. A. Steward 182.3-43-557-30-18.56; A. M. Morrison 310.1-98-928-43-21.58.

STRATHALLAN SCHOOL

Played 17: Won 12, Lost 1, Drawn 4. Abandoned 1

Master i/c: R. J. W. Proctor

Batting—*M. J. de G. Allingham 15–8–721–117–103.00; R. W. N. Kilpatrick 17–1–619–139–38.68; J. A. R. Coleman 9–4–176–72–35.20; G. S. B. Corbett 16–1–473–66*–31.53; N. H. McKee 11–3–223–65*–27.87; G. E. McClung 11–4–173–40–24.71.

Bowling—M. J. de G. Allingham 217.1–68–475–45–10.55; J. A. R. Coleman 207–57–520–40–13.00; R. W. N. Kilpatrick 120.1–32–370–17–21.76; G. W. A. Truter 74.3–18–262–10–26.20.

SUTTON VALENCE SCHOOL

Played 19: Won 12, Lost 0, Drawn 7

Master i/c: G. G. Able

Batting—*M. T. Russell-Vick 18–8–739–114*–73.90; A. R. Shaw 17–5–560–113*–46.66; T. R. Sunnucks 11–6–208–39*–41.60; I. S. Ekuza 5–0–131–49–26.20; S. J. Norris 12-3-215–56–23.88; R. J. H. Thomas 17–3–315–50–22.50; D. I. W. Usendorff 15-2–283–77–21.76; D. G. Curtis 8–1–124–47–17.71.

Bowling—M. T. Russell-Vick 125.3—43—251—36—6.97; A. R. Shaw 200.4—66—381—38—10.02; R. J. Mee 142–47–307–23—13.34; R. D. Coate 149.4—45—384—23—16.69; T. R. Sunnucks 93-29-188-10—18.80.

TAUNTON SCHOOL

Played 14: Won 5, Lost 2, Drawn 7

Master i/c: R. P. Smith

Cricket professional: J. A. Jameson

Batting—J. C. Pike 11–3–345–71*–43.12; R. C. E. Grant 10–4–171–48*–28.50; R. P. Copestick 10–1–250–111–27.77; N. J. Pringle 12–0–286–68–23.83; R. J. Bartlett 13-1–268–56*–22.33; A. N. Challacombe 13–1–260–89*–21.66; M. E. Masters 13-2-210–73–19.09; *A. J. Blake 12–0–126–36–10.50.

Bowling—J. C. Pike 210–73–466–33–14.12; D. A. Law 105–29–298–16–18.62; R. C. E. Grant 270–77–683–36–18.97; P. Gibb 95–29–273–13–21.00.

TIFFIN SCHOOL

Played 19: Won 3, Lost 6, Drawn 10

Master i/c: M. J. Williams

Batting—*P. R. C. Robinson 18–2–806–101*–50.37; P. A. Shepherd 17–1–370–64–23.12; N. A. Legg 17–3–289–50–20.64; A. S. Thurman 18–2–319–48–19.93; M. J. Campbell 16-1-287–36–19.13; M. I. Rathjen 12–2–166–26–16.60; D. R. Hickman 10–2–106–34–13.25.

Bowling—W. B. Shermer 220–67–587–34–17.26; N. M. Williams 172.5–46–528–30–17.60; P. R. C. Robinson 261.1–75–637–28–22.75.

TONBRIDGE SCHOOL

Played 15: Won 10, Lost 0, Drawn 5. Abandoned 1

Master i/c: D. R. Walsh

Batting—M. P. Hickson 14–6–478–101*–59.75; *G. R. Cowdrey 14–0–691–143–49.35; J. N. C. Budden 14–3–398–105*–36.18; A. M. Spurling 12–5–204–100*–29.14; A. M. M. Wilmot 13-2-259-49-23.54.

Bowling—G. R. Cowdrey 157–55–332–29–11.44; A. D. H. Grimes 159–49–379–32–11.84; R. C. G. Spurgeon 169–66–343–27–12.70; M. P. Hickson 156–42–409–26–15.73; R. Owenbrowne 63–18–178–10–17.80; M. A. Newnham 84–19–290–10–29.00.

TRENT COLLEGE

Played 13: Won 7, Lost 2, Drawn 4. Abandoned 2

Master i/c: M. F. Sayer

Cricket professional: H. Cartwright

Batting—B. S. Hazzledine 6–2–180–50*–45.00; T. Bullement 7–3–117–55–29.25; S. J. Kinselle 8–2–152–50*–25.33; R. T. Lawless 12–4–189–57*–23.62; *P. O. Burge 11–2–164–73–18.22; S. B. Carlisle 11–1–170–37–17.00; P. C. Newman 13–1–106–27–8.83

Bowling—W. Fox 90.2–30–212–27–7.85; B. S. Hazzledine 45.1–2–154–19–8.10; N. J. S. Booth 78–25–187–15–12.46; T. Bullement 63–16–178–10–17.80.

TRINITY SCHOOL

Played 26: Won 14, Lost 3, Drawn 9, Abandoned 2

Master i/c: B. Widger

Batting—P. J. Stapley 25–4–788–105–37.52; N. W. F. Redwood 25–4–522–67–24.85; D. H. Cooper 23–4–463–81*–24.36; T. P. Firth 12–6–144–58–24.00; *J. R. Collison 24–1–473–77*–20.56; P. J. Smith 24–0–461–92–19.20; M. P. Cuin 19–5–255–68–18.21; R. J. Elliott 17–5–214–40*–17.83; D. W. Price 11–2–105–40–11.66.

Bowling—P. J. Stapley 47.5–12–105–10–10.50; C. J. Holder 122.5–38–225–19–11.84; P. D. Bone 321.5–97–736–50–14.72; R. J. Elliott 301–73–697–47–14.82; B. S. Lees 95–16–324–18–18.00; T. P. Firth 274.3–86–585–30–19.50; N. W. F. Redwood 155.4–27–469–24–19.54.

TRURO SCHOOL

Played 12: Won 5, Lost 1, Drawn 6. Abandoned 4

Master i/c: A. J. D. Aldwinckle

Batting—M. Blomfield 9–5–135–41–33.75; *T. Manhire 9–2–215–54*;–30.71; A. Jones 10–2–196–54–24.50; D. Morton 11–2–151–34–16.77; J. Stick 11–0–111–58–10.09.

Bowling—T. Manhire 107-40-209-24-8.70; I. Berridge 70-20-155-16-9.68; D. Aldwickle 114-46-201-19-10.57; J. Hall 72-21-163-13-12.53.

UPPINGHAM SCHOOL

Played 12: Won 5, Lost 0, Drawn 7. Abandoned 1

Master i/c: G. A. Wheatley

Cricket professional: M. R. Hallam

Batting—C. W. Clarke 11–3–421–103*–52.62; D. J. Kennedy 13–2–359–59–32.63; R. M. Sunderland 8–1–216–78–30.85; *J. P. Green 11–3–218–50*–27.25; J. S. Williams 12–1–296–78*–26.90.

Bowling—J. G. K. Stratton 154–47–322–24–13.41; C. R. S. Phillips 75–17–237–14–16.92; M. A. F. Riddington 196–62–571–30–19.03; C. R. J. Timm 130–32–357–17–21.00; J. S. Williams 123–36–361–14–25.78.

VICTORIA COLLEGE, JERSEY

Played 28: Won 15, Lost 0, Drawn 13

Master i/c: D. A. R. Ferguson

Batting—C. M. Graham 11–8–169–45*–56.33; *W. Jenner 28–6–1,227–123*–55.77; P. L. Lalor 21–6–487–82*–32.46; D. A. Oliver 26–6–569–74–28.45; G. B. Gothard 23-7-334–50*–20.87; A. J. Sugden 21–0–327–66–15.57; S. G. Clarke 13–3–140–50*–14.00; B. Vincent 15–0–154–72–10.26; J. M. W. Giles 17–3–118–26*–8.42.

Bowling—J. M. W. Giles 262–81–708–71–9.97; C. M. Graham 70–18–214–18–11.88; G. A. Holmes 162–45–419–31–13.51; I. St C. Morgan 99–20–416–28–14.85; D. A. Oliver 113-20-481–31–15.51; S. G. Clarke 169–42–436–27–16.14.

WARWICK SCHOOL

Played 13: Won 7, Lost 2, Drawn 4. Abandoned 1

Master i/c: I. B. Moffatt

Cricket professional: N. Horner

Batting—J. C. Ball 11–1–504–142*–50.40; N. C. B. Robinson 11–3–318–103*–39.75; B. J. Battather 7–3–142–52–35.50; R. M. Sadiq 10–3–184–87*–26.28; A. C. Nunn 13-2-273–80–24.81; *R. A. Horner 12–0–230–54–19.16; S. D. Dyde 12–1–133–29–12.09.

Bowling—A. Knight 64–19–158–20–7.90; A. C. Nunn 162.3–40–459–30–15.30; D. J. Coldron 57–16–177–10–17.70; B. J. Barnfather 149–35–441–22–20.45.

WELLINGBOROUGH SCHOOL

Played 19: Won 3, Lost 7, Drawn 9. Abandoned 5

Master i/c: C. J. Ford

Batting—T. P. Cosford 19–1–439–69*–24.38; R. H. Woodhall 15–2–291–40–22.38; R. S. Minto 18–3–276–48*–18.40; *R. H. Lucas 18–1–244–33–14.35; R. T. H. Gane 10–1–121–37–13.44; A. M. Hants 17–0–183–51–10.76; I. Tinson 18–1–173–31–10.17; D. S. Smith 12–1–107–31–9.72.

Bowling—A. M. Hants 204–49–598–35–17.08; R. H. Lucas 172–50–482–26–18.53; R. Harston 146–39–405–19–21.31; R. H. Woodhall 145–30–443–19–23.31; J. S. Baker 128-41-422-13–32.46.

WELLINGTON COLLEGE, CROWTHORNE

Played 16: Won 6, Lost 4, Drawn 6. Abandoned 2

Master i/c: D. J. Mordaunt

Cricket professional: P. J. Lewington

Batting—P. S. Wollocombe 15–3–390–65*–32.50; R. C. Fedrick 17–2–375–91–25.00; *R. A. C. Mallinson 13–1–281–80–23.41; G. R. L. Spackman 17–1–365–101*–22.81; B. A. M. Wessely 11–2–169–76*–18.77; G. I. G. Sharp 16–3–199–51–15.30; P. K. O'Toole 13-3–102–19*–10.20.

Bowling—P. K. O'Toole 71–19–185–16–11.56; G. R. L. Spackman 60.2–16–173–12–14.41; R. C. Fedrick 196.2–61–493–34–14.50; J. T. Ansell 150.3–39–446–26–17.15; B. A. M. Wessely 61.5–14–193–10–19.30; R. E. K. Marshall 184.5–62–431–19–22.68.

WESTMINSTER SCHOOL

Played 10: Won 1, Lost 3, Drawn 6. Abandoned 3

Master i/c: J. A. Cogan

Cricket professional: R. Gilson

Batting—R. J. Levy 5–2–157–57*–52.33; *R. S. Rutnagur 10–1–289–48–32.11; S. D. Warshaw 10–1–230–68–25.55; C. J. Duffell 8–3–117–50*–23.40; D. D. W. Martin 10–1–209–52–23.22; G. G. Weston 9–2–134–38–19.14; N. Coleman 9–0–167–52–18.55; S. Craft 8–0–100–51–12.50.

Bowling—R. S. Rutnagur 102–29–287–14–20.50; T. E. Lunn 100.2–19–356–17–20.94; G. G. Weston 72.2–15–233–10–23.30; C. J. Duffell 105–19–352–15–23.46.

WHITGIFT SCHOOL

Played 19: Won 6, Lost 8, Drawn 5. Abandoned 1

Master i/c: P. C. Fladgate

Batting—A. D. Vokes 19–2–569–87–33.47; P. W. J. Ellingham 20–0–474–63–23.70; R. J. Ward 12–3–209–44–23.22; M. A. Lenton 19–0–338–58–17.78; R. I. Taylor 20–1–252–36–13.26; D. N. Drinkwater 16–3–154–29*–11.84; A. D. H. Marshall 20–0–212–28–10.60; R. B. Weller 16–0–144–19–9.00.

Bowling—D. N. Drinkwater 118–17–400–27–14.81; *R. D. Ronald 243.5–78–619-41-15.09; S. Talbot 172.5–41–472–29–16.27; A. D. Vokes 133.4–28–408–20–20.40; R. J. Ward 91.3–15–340–10–34.00.

WILLIAM HULME'S GRAMMAR SCHOOL

Played 23: Won 8, Lost 7, Drawn 8

Master i/c: I. J. Shaw

Batting—R. P. Thornton 21–1–493–70*–24.65; H. Fryman 22–0–500–81–22.72; R. G. McLaren 17–3–229–35–16.35; N. W. Roberts 18–3–204–42–13.60; *D. K. Smythe 20–1–245–48–12.89; J. Braddock 14–1–149–38–11.46; J. D. Sealy 20–3–173–37–10.17; J. Wade 17–4–120–28*–9.23.

Bowling—I. D. Thorpe 214–48–623–45–13.84; N. J. Fairfax 174–24–563–30–18.76; A. D. Brown 223–47–625–28–22.32; R. G. McLaren 176–41–565–23–24.56.

WINCHESTER COLLEGE

Played 19: Won 2, Lost 7, Drawn 10. Abandoned 2

Master i/c: J. F. X. Miller

Cricket professional: V. Broderick

Batting—W. E. J. Holland 20–3–753–150*–44.29; I. L. M. Henry 17–1–344–48*–21.50; C. N. N. Smith 20–3–354–54*–20.82; S. Nicklin 13–0–242–53–18.61; *E. M. Coulman 19–2–285–58*–16.76; A. J. de Q. Adams 17–3–211–43–15.07; C. E. R. M. Hall 13–3–138–45–13.80; R. B. M. Heyworth 19–2–158–25*–9.29.

Bowling—I. L. M. Henry 64–8–211–10–21.10; T. P. Smail 167–34–591–28–21.10; J. D. Dean 109–30–373–17–21.94; A. J. de Q. Adams 94–22–275–11–25.00; J. D. C. Douglas-Hamilton 186–36–592–23–25.73; C. E. R. M. Hall 144–33–506–16–31.62.

WOODBRIDGE SCHOOL

Played 15: Won 6, Lost 3, Drawn 6. Abandoned 1

Master i/c: J. Bidwell

Cricket professional: J. Pugh

Batting—*R. W. Bensly 14–4-424–100*–42.40; E. A. H. Griffiths 14–1-299–79–23.00; S. Parker 14–0-315–78–22.50; R. H. Kemsley 12–2–215–57–21.50; J. A. Speedman 11–5-129–37*–21.50; S. N. Mayhew 9–1–107–38–13.37.

Bowling—S. Leask 30-4-101-10-10.10; R. A. Jack 95-16-260-12-21.66; R. W. Bensly 825-10-336-15-22.40.

WOODHOUSE GROVE SCHOOL

Played 12: Won 5, Lost 2, Drawn 5. Abandoned 2

Master i/c: J. F. Clay

Cricket professional: P. J. Kippax

Batting—I. W. Stott 11–1–488–89–48.80; B. S. Percy 11–5–215–59*–35.83; A. G. Percy 12-2-287-72–28.70; *S. A. J. Kippax 11–0–194–42–17.63.

Bowling—B. S. Percy 104.4—30–215–24—8.95; S. Cockerill 120–47–222–23–9.65; S. A. J. Kippax 131.4–34–326–31–10.51; A. D. Ratcliffe 106.1–30–266–12–22.16.

WORKSOP COLLEGE

Played 13: Won 2, Lost 2, Drawn 9

Master i/c: N. S. Broadbent

Bowling—E. R. Hughes 89–20–222–22–10.09; D. Manger 89.5–18–320–17–18.82; S. N. Waddington 165–49–422–18–23.44; J. H. Wilks 157.5–32–517–16–32.31.

WREKIN COLLEGE

Played 22: Won 7, Lost 5, Drawn 10

Master i/c: E. C. Gower

Cricket professional: J. Smith

Butting=*J. R. Mackenzie 21–4–527–72–31.00; C. S. Joyner 20–1–481–87–25.31; O. N. E. Harey 16-5–274–57–24.90; A. W. Hartley 17–1–336–51–21.00; R. G. R. Boddington 18-3-274-46–18.26; D. A. Wells 19–0–276–45–14.52.

Bowling—P. R. Mitchell 118–24–325–24–13.54; O. N. E. Harvey 389–120–764–52–14.69; J. R. Mackenzie 359–89–882–50–17.64.

WYCLIFFE COLLEGE

Played 11: Won 2, Lost 3, Drawn 6. Abandoned 3

Master i/c: H. W. Scott

Butting—J. R. Bedington 11–1–298–75–29.80; P. J. Rowley 11–0–299–78–27.18; J. F. Gowen 11–4–155–35*–22.14; *S. J. Shorthose 11–1–156–46–15.60; R. B. Hair 14–112–20–10.18.

Bowling—S. J. Shorthose 96–20–245–21–11.66; R. B. Hair 56–16–173–11–15.72; C. A. Vaux 60–11–217–13–16.69; J. R. Bodington 76–16–235–13–18.07; C. C. E. Byers

WYGGESTON AND QUEEN ELIZABETH I COLLEGE

Played 11: Won 3, Lost 4, Drawn 4

Master i/c: G. G. Wells

Batting—*R. J. Mee 11–6–298–130*–59.60; D. K. Santaney 5–1–150–50–37.50; N. Patel 8–0–250–79–31.25; N. Vyas 7–0–163–44–23.28; R. G. Long 10–0–106–53–10.60.

Bowling—D. A. Silver 75–22–219–20–10.95; A. Jones 59.1–17–139–12–11.58; S. G. Allcock 102.1–26–289–18–16.05.

1

t

B

B

A

la

de

at be

